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No. Worksheet ToPic Pg
b5 Numbers 500 to 600 2
bb More numbers 500 to 600 A
b7 Numbers 600 to 700 b
68 | Mapwork 8
69 More numbers 600 to 700 (0]
70 Numbers 650 to 750 12
1l Numbers 700 to 750 14
72 | 2-D shapes lb
13 Addition and subtraction to 800 18
7[,. More addition and subtraction to 800 20
75 Addition and subtraction to 800 again 22
76 Number patterns: tens to 800 21
1 Rounding of f to tens 26
78 Mu|tip|ication: fives up to 75 28
19 Number patterns: fives to 800 30
80 DGH time and night time 32
8l Multiplication: twos up to 75 3L
82 Number patterns: twos up to 800 3b
83 Mu|tip|ication: 2s and 5s up to 75 38
8l Mu|t,ip|icqtion: threes up to 75 LO
85 Mu|t.iP|ication: 2s,3sand 4s up to 75 L2
8b Number patterns: threes to 800 Ll
87 Multiplication: fours up to 75 Lb
88 Number Patterns: fours up t0o 800 [..8
89 Mu|t,ip|icat,ion and division: 2s, 3s, s and | 50
5s up to 15

q0 Properties of 3-D ol?ject.s 52
ql Fraction st.riP kits 54
92 More fractions 56
93 Shqring |eadin9 to fractions 58
STA The distance around 60
95a Trqding money 62
95b Let's 9o shoPPinS bl
96 More about data bb
q7 Working in centimetres 68
98 Numbers 700 to 800 70
a9 More numbers 700 to 800 12
|00 Numbers 800 to 900 A
101 More numbers 800 to 900 76
1024 Weighing things 78
I02b | Let's weigh some more 80
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(4
¢ i

No. | Worksheet Topic Pg
03 | Numbers 900 to| OO0 82
|O[,. More numbers 900 to | OO0 8L
105 Addition and subtraction to 999 86
06 | About the house 88
107 | Working with money 90
|08 | More addition and subtractionto 999 | 92
109 Addition and subtraction to 999 ogain q[,.
[[6] Measurement |ouzz|es 96
1] Number patterns: tens up to 900 98
112 Round of f to the nearest 10 100
13 Multiplication and division: fives up 102

to 100
||[.. Number Patt,erns: fives up to| OO0 |OA.
15 More about symmetry 106
I~ | Number patterns: two up to 900 108
17 Multiplication and division: twos up 110

to 100
118 Multiplication and division: threes up 112

to 100
9 Number Patt,erns: threes up to| OO0 ||A.
120 | Multiplication and division: fours up Ilb

to 100
12l Number patterns: fours up to| OO0 118
122 | Equal parts of a whole 120
123 Fraction Prob|ems 122
|2[,. 3-D ol:zject,s |2[,.
125 | More fractions 126
126 | More grouping and sharing 128
127 Tangram fractions 130
128a Measuring capacity 132
[28b | Measure and pour 134
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ount and write.

a. Use the fo"owing chart to he|P You count

from 500 to bO0. 503 the numbers out
aloud as you count. 500

S0 S04 3l0
dI8

922

936
oJA 349
998

9513

288 990
992 995 600

b. Write the missing numbers in the grid above.
c. Write the |O numbers that come after 5OO.

500;
d. Write the next 8 numbers in the 2s pattern.

510; 512; ; ; ; ; ;

e. Write all the numbers in the 2s pattern from 548 to 570.

S48; : : : : ; : : : : ;570
f. Write the next 8 numbers in the Ss pattern.

515; 520;

I 2 8 & B 6 7 8 9 [0
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How did You count the blocks?

-

\_ J
' Com|o|ete the number lines.
I I I I I I I I I >
5.3 547 5.9
I I I I I I I I I >
597 [598| |599
- 1 1 1 1 1 1 1 1 1 >
597| [598| |599
Com |ete Write from smallest, Write from biggest
P 99
= t,he tqb|e. to bigsest. to smallest

582, 586, 581, 58I, 585

3bb, 506, 560, 3lb, 50b

Write the Fo”owing in words.

520

1 12

I3

4

15

16

7

i8

164 20
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Peter has the fo"owing
P|ace value cards and base

ten blocks.

The teacher asks Peter
to show 537 with his

cqrds and blOCl(S.

This is what Aakar showed.

What did he do wr‘ong?

2 Write a number sentence and then the answer.

500 +10+7=

Sl7

Write a number sentence and then the answer.

70

3

500

90

90

500 +70 +3

|©




S ComP|ete the number line.

il I I I I I

930( (53l |552

Write all the numbers smaller than 556.

Write all the numbers bigger‘ than 556.

Br‘er UP BOUI‘ number‘.

a. Build each number with your cards.
b. Write the value for each digit.

495

508

SRTA

d49

602

There are ten digits.
0123456789

We Put them together to make numbers.

[ Example: 517

~

500

| O

7

S |7

o7 | 500 + 10 + 17

J

12 18 14 15 16

718

164 20




Count, and write.

600 to 7100. 503 the numbers out aloud

You count.

a. Use the fo"owing chart, to he||3 You count, from

as

100

600

60l 60L

6l0

6l8

622

636

oLl

(JAS!

6358

b/3

688

690

692 695

700

b. Write the missing numbers in the 3r‘icl above.
c. Write the 10 numbers that come after 60O0.

b00:;

d. Write the next 8 numbers in the 2s Pattem.

b22; b21,; 626;

e. Write all the numbers in 2s Pattern from bll to 633.

oll;

1633

f. Write the next 8 numbers in the 5s Pottern.

b/.5; 650; b335;

I 2 8 & B 6 7

g 9 10
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- A ‘ I I I I I I I I I >
6.0 b3 bl b9
- I I I I I I I I I

87| (688 [689

I I I
602| |60L| [60b

Y Com P|ete Write from smallest, Write from bigsest
~“ the table. to biggest, to smallest

b/2,6]b,blL, bll, 675
656,603, 6350, bl5, 605

Write the fo”owing in words.

b3l
1112 18 14 16 16 17 (8 19 20
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oooooooooooooooooooooooooooooooooooooooo

ook at the Pictur‘e.
e What isit?
¢ For what do we use it?

¢  What can we find on a maP?

Draw the fo"owing on the map:

NG
/N
/

/ ) >
)
" You can add some extra streets.

I 2 8 & B 6 7 8 9 [0

|ibr‘ar‘3, school, clinic, hospitcﬂ, Po|ice station, shopping centre.



A to give your friends directions from:

a. the clinic to the Po|ice station.

b. the school to the clinic.

c. the school to the shopping centre.

d. the shopping centre to the |ibr‘qr~3.

e. the |ibr‘ar‘3 to the school.

f the hospita| to the school.

11 12 18 1& 15 16 [7 18 19 20




nmber‘s 600 to 70

The teacher asks Peter This is what. Aakar showed.
o020 2 00 to show 658 with his What did he do wr‘ong?
( 200|400 ° cards and blocks.
ooj100
!:al - ~5 1 3 o L O
1o | 7o lis

Peter has the fo"owing
lace value cards and base
ten blocks.

600 + 30 + 7= 637
White a number sentence and then the answer,
60O 60O
90 70 50
8 8

600 +90 + 8

- | 2 8 4 & 6 /7 © 9 10
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YJ' ' P ete the number line.

6/0 b/l b/2 680
White all the numbers smaller than 675.

White all the numbers bigger than 675.

} ‘I'/ Fillin < or> or =
a. 6/0 607 b. 688 699
c. bOO +50 +5 655

Break up the number.

a. Build each number with your cards.

b. Write the value for each cligit. Now do these: Break up your number.

4 )
b8b ExamP|e: 632 500
690 30
699

2
632

632| 600 + 30 + 2
. Y

| Write the number names.

2 18 14 16 16 17 18 [9 20



Count, and write.

s Q. Use the fo"owing chart to he|P You count from 75
Gl 650 to 7150. SGH the numbers out, aloud as 550

You count.

657
bbl 669

683 685

103

JirA
123 121

J/A 143 149 | 7150

b. Write the missing numbers in the 3r‘icl above.
c. Write the 10 numbers that come after 650.

b50;
d. Write the next 8 numbers in the 2s pattern.

705; 707, 709; : :

e. Write all the numbers in 3s pattern from 719 to 749.

719; : : : : ; : ; : ;149
f. Write the next 8 numbers in the Ss pattern.

105; 710; 715;

I 2 8 & B 6 7 8 9 [0
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I I I
700 703 107 709

I I I
7L6| 747 |748
- I I I I I I I I I

06| | T 7lb

b Com P|ete Write from smallest, Write from bigsest
~“ the table. to bissest to smallest

129,720,728, 121,125
639,705,607, 701, 106

Write the Fo”owing in words.

&2 | 106
10 12 18 14 15 16 17 (8 19 20
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Ners 7100 to 150

100 Tt: :ﬁ:;}}eég TNI::,IE) T‘]ti,:r‘ This is wbat Jabu showed.
d 00|20 ofLoo0 cards and blocks. What did she do wrong?
=50 (6001700

" 20|30 L O

56 50 |7 0 8 O

a0

1] 2)31%

5|o)718ld

Peter has the followin
P|qce value cards and base
ten blocks.

700 + LO +3= 1.3

Write a number sentence and then the answer.

700 700!
L O 30 q
-~ 5

7100 +LO +5

m | 2 38 4 5 6 7 © 9 10
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P e the number line.

699 |700| |70l 709
Write all the numbers smaller than 70[..
Write all the numbers bigger than 704

¥ ) Fillin <, > or =
a. 150 169 b. 732 123
c. 100+ 40O +9 1.9

’k, Breok UP SOUF‘ number‘.
a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

e )
750 Example: 747 700
128 L O
703

.
T LT

147|700 + LO + 7
\ Y

Whrite the number names.

2 18 14 16 16 17 18 [9 20



SGH if the sl'\aloe
has a str‘oight or

a r‘ound eclge.

A & I

.y )
How many shqpes can

You draw with stmight

eclges.

[if?}‘; \ Find Pictures
‘57 %( Find shopes that have strqight, Find shqpes that have round
r’ 5 eclges and Poste them here. eclges and Poste them here.

I 2 8 & B 6 7 8 9 [0



. ComP|ete the fo"owi:

Draw the sthe in different Positions.

triqn9|e

rectcn9|e

squclr‘e

ComP|ete the table:
Name the shaPe Draw a shape that is | Draw a shape that is
smaller bigger
Find squares, tr‘idn3|es, r‘ect,qng|es and circles of .
% different sizes in mqgazines or newspapers.
Paste them here. A
-

[RIRSS 788 = B2

15 16 17 18 19 20 1
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wA@8ition and subtraction to 8O

items can I |ou3

with RSO0O?

I] S 4 B 6 7 © 9 I0
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,'T ’ ., Solve the fo"owing:

125 + 83 =

56L + 132 = 15 + 1T =

If SiPho gave him another 209 marbles, James would have the same number
as Sipho.

a. How many marbles would theg both have?

b. How many marbles did Sipho have to begin with?

q.

b.

11 12 18 1& 15 16 [7 18 19 20
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Number families

L+8=12 8+L=12

We can make families of numbers.

Each Fami|3 has two bigger‘

2-8=14 12—-4 =8

numloer‘s cnd one sma"er number‘.

Take [|., 8 ancl |2 as dn examP|e.
e Find the families.

Write £ number sentences for each group of numbers.
1A
7 17 3L
25 L5 70
65 335 40O

2,0 260 500

Look for links.

In this act,ivitﬂ we are 90in9 to identifg the Patt,ern.

90 + =360 + 950 =360
510 - 480 = 480 + =5/0 + 480 =570
430 -3l = 3l + =430 + 31 =430
b/lo—70 = 10 + =b/b + 10 =b/b
799-70I = 101 + =799 + 701 =799

I 2 8 & B 6 7 8 9 [0



Mr Mkhize drives to visit his mother who lives 352 km QWG.M' &

He makes a stoP after |66 km. How much further must he travel?

Kumi does this:

Pumla wrote this:

352 - lbb 352 - lbb
= 300 + 850 + 2
+, +30 +100 +52 o0 - ot
ﬂﬁﬁm — 300 + 4O +12
70 200 300 —100 + 60 + b
= 200 + 1,0+ 12
30—|—4+IOO+52 2100 + 604+ b
= |3 + 52 = 18b km = |00 + 80+ b
= |86 km
Mbali does this: Peter does this:
352 - lbb 352 - lbb
Ibb + 100 = 2bb + 3, =300 + 52 |= 352100 -bb
— 352 = 252-bb
|00 + 34 + 52 =134 + 52 =186 km = 202-52-1i
= 20014
= 186 km

Veronica does this:

Lebo thinks doubles and halves:

352 - lbb

352152 = 200

200 -4 =200-10-4
=190 -4

= 186 km

Half of 352 is 176

But I must on|3 take 166,
so 1 add back 10.

76 + 10 = 18b km

Talk about the different ways. Which way do You like best? Whg?

D Solve the fo”owing on an extra |oiece of paper:
¥ Use any of the above methods.

14,6 —328

800 - 499

11 12 18 14 15 16

17 18 19 20




‘ BUIId HOUI" own number‘ 'dellleS

gy ) A warm up GCtIVItH

( EXQmPle: Moke I7
, S+12=17 8+9=17
= 2+5=17 q+8=1
7-12=5 7-9=8
[7-5=12 7-8=9
S > = ol :r
For each number below, choose 2 more to make a Fomi|3. Correct!

White four number sentences (two + and two —] for each number fami|3.

+ + _ _
7+9=1b |9+7=1b| Ib-9=7 | Ib-7=9

& ! ) @ @
chl the mlssmg %
doubles or halves.




If you know your halves and doubles, Yyou can sometimes use them
to add or subtract. Examples:

34L—-18=1b 190 - 97 b5 + 69 242 + 219
3L—-17T=1] [90-95 =95 (b5 + 65 =130 |[=242 + 242
I7-1=1b 95-2=93 30+ 4 =134 |+ 7

=48, + 1

= 9
Now trH these:
340176 14,5 + 148 900 - .52

W

‘!/ Stuclﬂ the ways.
25b children each 9et a Christmas Present. Half Set dolls and half get cars.

How many Set cars?

Wc13 | WGH 2
256 = 200 + 50 + b —» Half of 250 = 125
— Half of 200 is 100 — Hdlf of bis 3
—» Half of 50 is 25 125 + 3 =128
— Hdlf of bis 3 — Hadlf of 256 is 128,
|00 + 25 + 3 =128 So 128 get cars.
— Half of 256 is 128
So 128 Set cars.

Z
N\
0, )

708 Solve the fo"owing on an extra |oiece of paper:
\J f Use any of the above methods.
128 children each get a tog at the local | | 642 children each get amuffin.
restaurant. Half of them get chocolate chiP
Half of them get building blocks. muffins.
How many Set buiHing blocks? How many get chocolate chiP muffins?

11 12 18 1& 15 16 [7 18 19 20 23
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e E{* %

Number Pat.terns tens to 800

’ %’;\’; ‘ Look at. the numbers in the orange shaded blocks.
, L( .) What pattern do You see?

Count in tens from 710 to 800. Count backwards in tens from 800 to
What comes after 720 when 710. What comes before 760 when You

You count, in tens? count, backwards?

701 | 702 | 703 (704) 705 | 706 | 707 | 708|704 | 710
2 [ 73 (74 5 | 76 | 717 | T8 | 719 {720
721 | 722 | 7123 (724 725 | 726 | 727 | 728 | 729 | 7130
731 [ 732|733 (734, 735 | 736 | 737 | 738 | 739 | 140
41742 | 143 (Th4) 745 | 746 | T67 | 748 | 749 | 150
751 | 752 | 153 (754, 755 | 756 | 757 | 758 | 759 | 760
7ol [ 762 | 763 (Tb4,) 765 | Tob | 767 | 768 | 769 | 710
71| 772 | 773 (T74,) 775 | 776 | 777 | 778 | 779 | 7180
783 (781,) 785 | 786 | 787 | 7188 | 789 | 790
793 (794,) 795 | 796 | 797 | 798 | 799 [800

800:; 790: 780
> £9 Add or subtract ten. a. 167 +10 =171
N ' |. Add tentothe glven number. We did the first one for you.
c. 183 d. 156 e. 14 f. 799

S 4 B 6 7 © 9 I0



S o 165710~ 757

2. Subtr‘act ten From the 9|ven number. We did the first one for Hou - §¢

b, 762 c. 783 d. 756 .. 7L, £ 799 T
3. What haPPens when You add or subtract, ten to the numbers above?

|_oo|( at the red circles on the number board.
a. What do You notice about, these circled numbers?

b. Extend the fo"owing number sequences:

10L; TL; 124 : : 182; 712;762;
115;725;135; ; ; 137,141,197,
799;789; T19;

: Fill in the correct, number in each circle on these
S50, number lines.

Q. T T T T
701 702 703 70, 705 70b 707 708 7oq© M2 78 7|4 5 6 7 T 7|q©

~7|2|I I I I I I | |©| | l i O

| o
I'

| | | | | | | | |
| I I I I I I I I I I I I I I I I
U C DU Tk U5 b T U8 79 750 751 D753 75, 755 T56 757 758 759 760

“+———
76l O —

-IC
_
A

The first, dlglt is 7, the next, dlglt is one more than seven,
and the last digit is one less than seven.

Count, forward in tens from this number. What, number do You Set?

11 12 18 1& 15 16 [7 18 19 20
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Roundlng of f totens

All the numbers from A backwards All the numbers from 5 upwards
will be rounded of f to O W||| be rounded of f to 1O.
1 1 1 1 1 |

O I 2 5 b 1 8 | (0]

I—et' us td”( @( at, 3 on the number |ine>
@)

| 2 3 A S b ] 8 9 10

@t will 3 be if it is rounded off"D

il I I I I I I I I >

| 2 3 A S b 1 8 9 10

3 rounded of f to the nearest ten will be zer§
DO the S Wlth ( What will b be, rounded of f to the nearest |O@

>
il I I I I I ’ I I I >

O | 2 3 A S b 7 8 9 [0

C The answer will be |O. )

W -~

) Round of to the nearest |O.
12 rounded of f is? |9 rounded of f is?

- I I I I I I I I I
IO Il 12 |3 A 15 b 17 18 19 20
93 rounded of f is? 58 rounded of f is?

il I I I I I I I I I >

50 ol 92 25 | | 5b S

B2 S h 8




‘ ou of f to the nearest, 1O,
using the number lines to he|P You.

C Between which two tens is 467 ) Round to 50

a. 4O and 50

>
Il | I I I I I ’ I I I >

LO| | &l | |42 [43] |4L| |45 [4b] | 47| |48 [49] |50

b, and ( Between which two tens is 637) Round to

Il I I I I I I I I I >

C Between which two tens is 377 ) Round to

il I I I I I I I I I >

CI. ond ( Between which two tens is qq?) Round to

il I I I I I I I I I >

C
e
§

Tom has R4800.
The chk of cards he collects cost, R5,00.
How many Pocks of cards can he buH for RL8 007

11 12 18 1& 15 16 [7 18 19 20 21
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Mu|t.|P||cqt.|on ﬂves uP to 75

+ What comes in fives? & : ; How many ﬂnger‘s on: Match the sum with
The ﬂnger‘s on one : tl'\e questlon on the
2 hands? |eﬁ,
3 hands? 9x5=L5
L, hands? 1 X5=35
5 hands? 2X5=10
b hands? [ X 5=20
T hands? 3xX5=15
8 hands? 5 x5=25
9 hands? IO X5 =250
|O hands? bxX5=30
8 X5=L40
Sharing Divide
2 groups of & 2x5=10 Share |0 between I0O+5=2
] groups of & Share 35 between 5
12 groups of & Share 6O between 5
15 groups of & Share 15 between
ComP|ete the table.
Shar‘ing Divide
Share |2 between 5 |2 + 5 = 2 remainder 2
Share b/, between
Share 39 between 5
Share 73 between 5

I 2 8 & B 6 7

g 9 10




) omp te the flow cliogr‘cms.

outPut inPut

ru|e

| lb
b ey g
N\ _
A= 7

input output  input
AN T

ru|e

ST

output

63

T
4

o ‘ ComP|ete the tables below:

ZANN

X I 2 3 A S b 1

8 q IO
5
X Il 12 13 | 15 lb [7 18 19 20
S

Solve the fo"owing:

MH mother bought sweels Packets worth R70.
She Pcid R5 per Pocket.
How many chket,s of sweets did she buﬂ?

12 I8 14 15 16 [7 [

164 20




V. : A W

rns: fives to 800

&% 2 D What can You tell about the numbers in the
il

s N&mber Patte

74 o\
[ 59“

) or‘onge shoclecl bIOCI(S?

Count in fives from 705 to 800. Count backwards in fives from 800 to
What comes after 720 when You 105. What comes before 730 when
count in fives? You count, backwards?

701 | 702 {703) 704 | 705 | 706 | 707 (708) 709 | 710
< <
{72 (73) T4 | M5 | 76 | 77 {(718) 719 | 720
721 | 722 (723) 724 | 7125 | 726 | 727 (728) 729 | 730
731 | 732 (733) 734, | 735 | 736 | 737 (738) 739 | 140
T4 | 742 (T63) Thts | 765 | T46 | 767 (T48) 749 | 150
751 | 752 (753) 754 | 755 | 756 | 757 (758) 759 | 760
76l | 762 (763) 76l | 165 | T6b | 767 (T68) 769 | TIO
TN | 772 (773) 714 | 775 | T76 | 777 (778) 779 | 180
781 | 782 (783) 784 | 785 | 786 | 787 ((788) 784 | 790
791 | 792 (793) 794 | 795 | 796 | 797 (798) 799 |800

800; 795; 790;

%S‘;\» Add or subtract five. a. 160 +5 =765

335( |. Add five to the 8iven number. We did the first one for You.

b. 7125 c. 180 d. 795 e. 115 f. 790

S 4 B 6 7 © 9 I0




A**

‘ ’i’A 5

0765 5= 7bO

2. Sulotr'qct ﬂve from the glven number. We did the first one for You. oy

b. 760 c. 185 d. 750 e. 115 f. 790
3. What thPens when You add or subtract, five from the numbers above?

ook at the red circles on the number board.
! 7 a. What do You notice about, these circles?

b. Extend the fo"owing number sequences:

103; 708; 113; ; : 122;127; 132;
153; 198; 763; : ; T4 T19; 7124
101;706; 711; :

Fill in the correct, number in each circle on these
number lines.

7:2|:::C'>::::©::::C'>::::C'=>

<
<

. 74I 0743 744 745 7460748 7l,°l 750 75I©753 754 755 756© 758 75q 7bO
ST TS

T|'1e ﬂr‘st dlglt is 1, the next Cllglt is one more than seven,
and the last digit is five less than seven.

Now count. forward in fives from this number. What, number do You 9et.?

11 12 18 1& 15 16 [7 18 19 20
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CCIPe TOWI'\

The table below shows when the sun rises and
sets at different times of the year in Cope
Town. Read the times in the table and then fill
in the rest of the table before answer‘ing the ﬁ%&
oluestions below. You must find the |ength of

CIGH and night for each date in the table below.

CAPE TC

Cape Town Sunrise | Sunset | Length of day Length of night
March 23 6:53 am | 6:53 pm
June 2| 1:3lam | 5:hily pm
September [9 | b:4lam | b:4] pm

December 22 | 5:32 am | 7:58 pm

a. In which months are the CIGH and the night the same |en3th?
b. Which month has the |on3est dags’?
c. Which month has the shortest CJGHS?

d. Find the difference in hours and minutes between the |on9est dog and the
shortest dcuj.

I 2 8 & B 6 7 8 9 [0



sets at dif ferent, times of the year in
Polokwane. Read the times in the table
and then fill in the rest of the table

before qnswer‘ing the questions below.

Polokwane Sunrise | Sunset | Length of day Length of night
March 25 6:08 am | 6:08 pm
June 2| b:lyly am | 5:2L pm
September [7 [ 5:57 am | 5:57 pm
December 22 | 513 am | 6:50 pm

a. In which months are the doH and the night the same |en3t.h?

b. In which of these months is the |en3th of daﬂ the same in CoPe Town and
Polokwane?

c. In which months are theﬂ different?

d. Find the difference in hours and minutes between the |ongest dqﬂ and the
shortest dog.

e. Find the |en9th of daﬂ and night for each date in the table above.

Ask someone to he|P You to find the sunrise and sunset. times in Yyour area.

Write them down for one week. Are the cloas getting |on3er‘ or shorter?

2 18 14 16 16 17 18 [9 20



ult.iP|cc|tion: twos up to /19

* What comesintwos? ¢ How many shoesare ¢ ¢ Matchthe sumwiththe ¢

: One Pcir of shoes. oluestion on the left:
: | pair of shoes? —a— | X 2=2
2 Pqirs of shoes? qQx2=I8
3 pairs of shoes? 1 X 2=1L
L pairs of shoes? 2 X2=1
) pairs of shoes? ¢ L, X2=8
b pairs of shoes? ¢ 3X2=6
7 pairs of shoes? : 5 xX2=10
8 pairs of shoes? ¢ : IO X 2=20
q pairs of shoes? : : bXx2=12
1O pairs of shoes? 8 X2=1Ib

\
.....................................................................
.

Shar‘ing Divide
(0] groups of 2 IO x 2=20 | Share 20 between 2 20+:2=10
15 groups of 2 Share 30 between 2
20 groups of 2 Share 4O between 2
35 groups of 2 Share 70 between 2

ComP|ete the table.
Shoring Divide
Share 2| between 2 2| + 2 =10 remainder |
Share 33 between 2
Share b7 between 2
Share 75 between 2

| 2 8 4 B b6 7 8§ 9 [0



{ omPte the flow cliogr‘clms.
ROMI__&~ :

inPut out,Put, lnPUt outPut

[l 22

.

15 X 2 3l

A N\
B B
/

.
:
;

X
N

A INN

inPut, outPut inPut outPut

50

ZE\

rule

’

5 68 X 2
;j; \ 72
7%

Y
N
AN

p ; Com|o|ete the tables below:

X 1123/ 4|56 T7[8 9101112 13|I14]15

b|I7]1819 20

X | 21 122 23|24 12512627 28|29 30 3|32 33|34, 1353637
I bought 36 |o||iPoPs for R2.
What was my chqnge? l

I 12 18 14 15 16 17 (8 [9 20

““ ) Solve the fo"owing: \_b ,
Ipaid with a RS5O, R20 and a RS coin. I | |
I I N N e e e
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oooooooooooooooooooooooooooooooooooooooo

INGmber Patt,er
\’r‘ B Look at the numbers in the orange shaded blocks.
C. L(,) What pattern do you see’?
Count in twos from 700 to 80O0. Count backwards in fives from 800 to
What comes after 700 when You 710. What comes before 750 when You
count in twos? count, backwards?

701’} 702 (703) 704 [705) 706 (707) 708
(70 712 (73] T4 (715 ) 76 (717 ) 718
(721} 722 (723) 724 (725)| 726 (727)) 728
(731 732 {733) 734 (735) 736 { 737 738
(T41| 742 (74.3) T (T45)| T4 (T4T)) 148
(751 752 (753 )| 754 { 755) 756 {757 158
(76l ) 762 (763 Tok [ 765) Tob {767 )| 168

<

J

\

772 (773) G
77092 (773 Pl (775716 (7771778
781, {785) 186 %@ 788
79% (795) 796 (797) 798

800:; 798; 796;
T Add or subtract, two. a. JoL. +2 =766
: o | Add two tothe 9iven number. We did the first one for You.
c. 183 d. 75b e. 14 f. 799

2 8 4 B b6 7 8 9 10




. Oubtract two fre théglven number.

We have done the first, one for You.

b. 762 c. 183 d. 75b e. IlL f. 799
3. What hqppens when You add or subtract two to or from the numbers above?

b. Extend the fo”owmg number

Sequences: 7qq, 7q7, 7q5,
701;703;705; ; ; 183; 185; 187
125:727:729: ; ; 17978l 783;

: Fill in the correct. number in each circle on these
& number‘ lines.

< 1o ©703©7O5©7O7©70q© b O 78 O " O " O " O
72'©©©©©©©©©©

b. 74| Om 744 745@747 7[,8 7z,q 750 75|©753 751, 755@ 757 758 759 760
76l C C C C C C C C C

The first, digit is 7, the next, digit is two more than seven, .
and the last digit is four less than seven.

Now count forward 53 two from this number. What, number do You 9et?

11 12 18 1& 15 16 [7 18 19 20



- Muitiplication: 2s and Os up to 15

s A

I_§ l How fast can You answer the fo"owing?
Ix2= | 2x6=__ | I0x2=__ | 71x2=__
8x2= | 5X2=_ | 8Xd=_ | LXbd=__
5x5= | bx5= | 3x2=__ | 1x5=__
bx2= | 9x5= | 3x5= | Lx2=
0Ox5= | 5x2=__ | Ix5=__  |dx5=__

Look at what, my friend did. _

Discuss it.
CMS friend showed [.. X 2 as fo"ows:)

SkiP counting Equq| groups SSSi?::d Ar‘r‘ags Facts
I XX 2xY4Y=9
XX Hx 2 =%
246% | op@@® |2t2+2+2 X = =2
XX 8+-2 =4
Now do the same with 4 X & = 20.
Skip count.ing Eolua| groups 535;?::d Ar‘r‘qgs Facts

- [ 2 3 4 B 06 e 9 10




é'i( Mu|ti|o|3 the fo"owing:

2L x 3 a.13x 3 b. 18 x 3

=(20+L)x 3
=(20 x 3) + (L x 3)
=60 + 12

=72

c.12x9 d 2l x3 e. 1l x3

f 253 g12 % 3 h 15 x 5

& Y
Solve the fo”owing:

I bought |, sweets for R3 each.

M3 friend bought |2 sweets for RS each.
How much did we pay a|together‘ for the sweets?

11 12 18 1& 15 16 [7 18 19 20




() | i A A A A A A A A A AR A A A A A AAhA
E + What comes in How many wheels are on : Match the sum with
I—q) * threes? ’ | trlc30|e'7 s the questlon onthe left: :
E The wheels of a . 2 trlc30|es') 3 X g %7
* tricycle. @—\‘ 9 3 tricycles? \ X
§ ) % A tricgdes’? § § 2X3=6
; . : ) tr‘ic30|es? L X 3=12
b tric30|es? 3 x3=9
] tr‘ic30|es? : 5| § g i |35
8 tr‘ic30|es? 10 % 3 B 30

gueyded? i b x3-18
tr|030es. Eg 8><3=2[|.

.....................................................................
7\

Sharing Divide
| groups of 3 Il x 3=33 Share 33 between 3 33+3=Il
15 groups of 3 Share 45 between 3
25 groups of 3 Share 60O between 3
12 groups of 3 Share 36 between 3

! ComP|ete the table.

F' Shoring Divide
Share 37 between 3 37 + 3 =12 remainder |
Share 7/ between 3
Share 49 between 3
Share b8 between 3

M [ 2 383 4 B 6 7 8 9 10
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ele the Tlow dicgr‘cms.
outPut input
Il

ru|e

15 X 3
25
25
outPut inPut

y
NN

inPut

AN :

36 +~3 bb +~3

T N\
sl

output

r‘u|e

ZEN

NV,
AN

X
N
w
~
O
o
-
oo
-0
[®)
N
w
=~
&)

N

X |l 7T 18 19 20| 2

22 123 | 24 25|20 27 |28 | 29 | 30

How did You work out. the answers where the blocks are coloured blue?

(\Q N Solve the f‘o"owing:

=

=

The nr‘ﬁ fee was R3 for each child and 23 children entered the Pcrk.
How much did thea pay c|together‘? D)

11 12 18 1& 15 16 [7 18 19 20
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SX L = 5x2=
| Lx2= | 2XL= | 1TxX3=
| 2x3= | 1x2= | 9%xL=
| LxL= | IOX3= I X3=
| 9%x2=_ | bXL= | IO0Xx3=
Look at what, my friend did.

Discuss it. - C[ started to show 5 X 2 as fo"ows:)

Skilo counting Equa| groups Ejﬁ:,?;:d Ar‘r‘ogs Facts
X X 2 X =
XN S (i T
Now do the same with 8 X 3 = 2/
Skip count,ing Eolua| groups 535;?::d Ar‘r‘qﬂs Facts
bx Ll =2
Skip counting Equa| groups 5:5;?::d Ar‘r‘qas Facts

|7

3

4

5 O

7

g 9 10
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2l x 3

=0 +3)+3 =(20+1)x 3

=60 +3)+((3+3) =20 x3)+ (Ix 3

=20 + | =60 +3

=2l =63

a. [8+5 9 x 5 + remainder 3
=@x5)+3
=45+ 3
=48

b.bl =5

Solve the fo”owing:

MH friends and I have R63 a|toget|'\er‘.

How much will each of us 3et'?

We want to share it equa"g between the three of us.

=

112 18 14 15

16 17 [8

1€ 20
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—

umber‘ Pat.t,erns threes to OO

f ‘\
‘ D Look at the numbers in the orange shaded blocks.
fj U ) What Pdttern do You see?
Count in threes from 703 to 799. Count, backwards in fives from 799 to

What comes after 745 when You 903. What comes before 76b when
count in threes? You count backwards?
101|702 | 703 (704 705 {706 (707 708 | 709 { 710

|72 (713 T [ W6 (Ti6)) 17 | T8 {719 720

/

721 (722)) 723 | 124 {(725) 726 | 727 (728)) 729 {730
(731 732 [ 733 (73L.| 735 [ 736 (737) 738 | 739 ﬁ@
41 | Th2 (743) Thi, | ThE (746 14T | T48 (749 750
751 {(752) 753 | 154 {(755) 756 | 757 (758)) 759 | 760
(61| 762 [ 163 (764, 65 | Tob (767 ) 768 | 769 (T70)
71 [ 772 (773) 774 | 775 (776 777 | 718 (779)| 780
78| {782) 783 | 184 (785)| 786 | 781 (788)) 789 | 190

793 (79L.) 795 | 796 (797 798 | 799 [800)

ComP|ete the number sequences.

103; 706; 709; ; ; 799; 796; 793;

GS) :
& ;g,é( Add or subtract three. a. 166 + 3 = 76

g'@ 59 1. Add three tothe given number. We did the first one for You.

b. 76b c. 183 d. 796 e. 113 f. 790

| 2 8 4 B b6 7 8§ 9 [0




2. Subtrc;;tqfc,ge from the given number. a. 1bb— 3 b3 s

We have done the first one for You.

b. 763 c. 189 d. 756 e. 113 f. 799
3. What, hoPPens when You add or subtract three to or from the numbers above?

L) Look at the blue circles on the number board.
8 ! 7 a. What, do You notice about these circles?

b. Extend the fo”owing number sequences: 119:716; T13;
10L.; 707, 710; ; : 182;185; 188;
113; T1b; T19; : ; 7179;782;185;

: Fill in the correct. number in each circle on these
-'/.5'1 number lines.

< 702©70l, 705©707 708© 710 7II ©7I3 7IL© Tlb 7I7©7Iq 7“
oo O O O O

' 74I ©7l,3 744@74&: 747@7[,0! 750© 752 753© 755 756© 758 75q©
B O O O O C) o ©

The first, digit is 7, the next, digit is two more than seven,
and the last digit is seven less than seven.

Now count, forward in threes from this number. What, number do You get?

11 12 18 1& 15 16 [7 18 19 20



QI  cccccccccccsccicscctsse,  Leccccccceccecccsssssssss osscccscscecesssecessnee,
E + What comesin fours? ¢ : How many wheels are on : Match the sum with 3
e : The wheels of a car. : : s the question on the left: :
. e | car? : : 9 x4 =3b

2 cars? \ 7 X [ =28
3 cars? 2 X [ = 8
L, cars? L X [ =

O cars? 3><[,.:

b cars? 5 X L =20
| cars? | X L =L

8 cars? IO X L =4O
9 cars? - b XL =2
|O cars? 8 X [ =32

.....................................................................

Sharing Divide
12 groups of L 12 x [, = .8 | Share L8 between L L8+ =
lb groups of L Share b/, between £
18 groups of 4 Share 72 between L
15 groups of 4 Share 60 between £
) 4 ComP|ete the table.

' '} Shqr‘ing Divide

Share 35 between L. 35 + [, = 8 remainder 3

Share 55 between £

Share 70 between £

Share 75 between L

m [ 2 3 4 B b6 7 8 9 10




omplete the Tlow cliogroms.

outPut

inPut

9

’

lb

17

18

N\

ru|e

X L

NN

inlout output inPut outPut
(¢ O
e ] e
60 7 § bl 7 i:
12 b8
iy : ComP|ete the tables below:
3 L 5 b 7 8 q IO I 2 |13 | 14 | 15
8 19 20 21 | 22|23 |24 |25 |26 27 28 29 30
A

How did You work out, the answers where the blocks are coloured blue?

Solve the fo"owing:

I have RT75.

How many small Pdr‘tﬁ 3ifts at R/, each can 1 IOUH?

1 12

I3

4

15

16

7

i8

164 20
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Nmber‘ Patterns four*s up to 800

‘ 50 Look at. the numbers in the orange shaded blocks.
/ ) What pattern do Yyou see?

“5‘-’“‘”‘@

Count in fours from 70[.. to 8O0.
What comes after 736 when You

count in fours?

" |eeccccccccccccccscccccsscccccssccccccne o

- «—-—- qm—{;—f

Count backwards in fours from 800 to
70[,.. What comes before 776 when You

count

bOCI(WG r‘ds?

10l

102

(S

104

105

706

108 | 7109

710

7D

712

—

JirA

G

7lo

718

3

120

12|

122

N

124

~J
N
O

126

128

~J
N
-0

130

/
(73l

132

~J
W
w

134

)
\OY

136

\ S/

138

140

142

/=)
\&)/

1Ll

~
_b
(@)}

146

/=)
\

148

150

152

~
0)
w

194

)

196

~J
@)
~J

158

ERE

\ S/

760

162

/5
&)

JLTA

~J
oy

Tbb

/)
\~

168 | 769

710

172

Tl

716

~J
~J
~

718

)
\ S/

180

182

)
\»)

181

186

)
\~/

188 | 789

790

< (z
w

19L

2@

\OY| &1 \9Y] O \OY

796

<
~J

2
\S/

798

800

Com|o|ete the number sequences.

1214, 128; 132;

Ge)

DL

C ;g,é( Add or subtract four

0 |. Add four to the glven number. We have done the first one for You.

a. 16l + L. =768

b. 16

c. 188

d. 794

e. 118

f. 194

I]

2

3

4

5

6

7

9

10




2. Subtr‘act’.f‘ou from the given number.

We have done the first, one for you.

b. 768 c. 181, d. 7152 e. 1L f. 798
3. What haPPens when You add or subtract, four to or from the numbers above?

Look at the blue circles on the number board.

7 a. What do You notice about these circles?

b. Extend the fo”owing number sequences: 111, 715; 719;
7103; 707; 7ll; ; ; 183; 719; T15;
T13; TT7; 18l ; ; 799; 795; 74;

Fill in the correct. number in each circle on these
number lines.

a. <+t
701 ©703 701, 705©7o7 708 7oq© 7l 7|2 7|3© 715 7Ib 7|7© 719 7
&) &) i) &)

b +—t—t—t—t——t—t—t——t———t————t———t—t+—
A 0743 L TL5 0747 14,8 749 O 751 752 753@755 755 757 75q 760
>

O O @ @

' T have a 3-c|igit number.

The first d|9|t is 1, the next c||9|t is one more than seven,
and the last, d|9|t is three less than seven.

Now count, forward in fours from this number. What, number do You Set?

11 12 18 1& 15 16 [7 18 19 20



r'h\ . 4 - ‘-
. /. . e
@ St P
-

ke 2

S - O O O
O 1 | 'M‘Lﬁ|tip|@ie@tai©n»dn‘é] division:

A ) 35, L.s and Os up to 15

O'ED ¢ How fast can You answer the fo"owing?

0| k2= [ sxa- | ux2-  |oxe-
Lx3= | 3x2= | 2x2= | 3x3=
bXL= | Lx3=_ | 5x3=_ | 9A%xL=
bxb= | 8X3= | 9X4L= | 8Xd=
7x3= | 8xb6= | 2X6= | TXb6=

w Colour the blocks where the sum gives You
a remainder.

6 |1B+3=Lreml |I5 5= |I8 +5=
|28+ L=_ |6 +3=_ [IB #3=
|24 +2=_ |30=%2=  [29%2=
|7 +3=__ |3 +5=_ |30+5=
 |82+5= |51 +3=  [60*3=

(Y )

You can divide that new number IOH 3 [e.g. 9 is divisible bH 3)
o 27
e 87

N | 2 383 4 & 6 7 8 9 10




) A Divide and test, your answer.

2A%x3+2
=0 +5)+3 =(20+0)x3+2
=©60+3)+((6+3 =(20x3) +(Ix3) + 2
=20 +lrem?2 =b0+3+2
=2l rem 2 =65

q.[|.q+5

b.65 + 5

So

YOU neec| to 30 cncl dO some r‘eseor‘ch.

~

lve he fo”owing:

How do You know if a number is divisible 53 L7

112 18 14 15 16 17 18 [9 20



S S

ies of 3-D obJects

ook at the Plctur‘es.

rdPeFt

Talk about, the surfaces of the olzjects using words such as flat. and curved.

Boxes -

C3|inder‘s PHr‘amids Cones

&
A;

a9a
Lol

AP KT Look at the Plctures and comP|ete the sentences
s>~ and questlons

b. Whﬂ doesn't
the ball slide?

d. Can the 03|inder‘
also slide?

8 10



- i
You on|3 have to name each ol?Ject once. SGH if the ok\)Ject can roll or slide.

“ﬂ@l’ o |

¢ ===
N 4

Draw the fo"owing:

A box ba|oncin3 on A ball bo|qncing on A 03|inc|er bc|c1ncing on

a 03|inder*.

11 12 18 1& 15 16 [7 18 19 20

a 03|inder*. a box.




On one str‘iP write the wor‘cls; "One Whole”

Take another st,rilo and corefu"g fold it in half.
Then open it up- How many eoluc1| Ports do You have?

Write %on each half and cut a|on3 the folds.
Take a third strip and fold it in half, then fold it in

half again. OPen it. How many ecluq| Ports do You

have? Write% on each four‘th, and then cut a|ong the folds.

Now trﬁ and make two more striPs, one showing fifths
and the other eighths.

Use the fraction kit Pieces to |'1e|P
Yyou answer these oluestions.

How many eighths ec1u0| one half?

This circle shows one whole.

Divide the striP into thirds. Divide the circle into thirds. :

Colour one third.

Colour one third.

| 2 8 4 B b6 7 8§ 9 [0




/4

S ai'ia
g g

X . P

R - o

oy - ¥ eTo owing:
\\\ ‘ 1 )

~ ==

One half Three cluqr‘ter's Two thirds
Four fifths One half Five eighths

Draw the fo"owing:

Thr‘ quarters using a One half usin9 a circle. Two thirds using a

square. tr'iqng|e.
Four fifths using acircle. | Four eighths using a Two thirds using a
square. rectan3|e.

Tol
H

=)
), Pr‘epar‘e your kit 53]
* Cut out each of the b circles in Cut-out, 6. b

* Cut five of the circles into Pieces c1|on9 the lines.

* | abel each Piece:
o On one side write the fraction of the whole hour.
o On the other side write the number of minutes in that, fraction.

11 12 18 1& 15 16 [7 18 19 20




oooooooooooooooooooooooooooooooooooooooo

* A half is half of one whole
* A half of ahalf is one oluarter

e A quorter is half of a half
* A half and two quqrters make

.'..1’_,\ ®
moww 1

a who|e

e & T
e T

* A half and a oluarter make

three qucr*ter‘s

2w Share a Pie
wr ‘
e

Sipho, Gugu, Andile and Lisa share one Pie. - M i

I want half! e~ aqu arter. :

b«\ R

| ﬁﬁ PR OINN ¢

SlPho f\"’“@@@n\ﬂ @n\,({
T SVe

S -~
Draw Sipho’s share. Draw Sipho and Gugu's shares.

¢

-
G

®)
o

¢

5 will have ha /\-:v\, \VQ\ d ow much of the S \\,Q\
) AN (G /}f({” TR
(< ) 2

\ O A 2 ‘\ © 4

Andile

Draw Sipho, Gugu and Andile’s share. Draw dll their shares of the Pie.

| 2 8 4 B b6 7 8 ¢



¥ are the shapes amongst the children.
{( a( & Use a different, colour or pattern for each child.
ROL 2" We have done the first one for You.

&LAe

Q) A
/\;) r::
AN Z

Nl
Four friends share |ic1uor‘ice sticks Six friends share 9 |ioluor‘ice sticks
eoluq"H. equa"a.
How much will each one get? How much will each one get?
What is the question? What is the question?
What, are the numbers? What, are the numbers?

Draw a Picture. Draw a Picture.

11 12 18 1& 15 16 [7 18 19 20



oooooooooooooooooooooooooooooooooooooooo

le |ec|din3 to frqction

Here are 12 We are two friends. We have We share the twelve counters
counters on|3 one container divided between the two of us.
Y X ) exqc‘t,lﬁ in half. T got six T got six

counters. counters

We sotLthis is

We say this is
alf. i

one one Olf

o

Nlne balls divided between three friends. | Twelve balls divided between four
em! 000000000 friends. Three of the friends are bOHS.
’ 000000000000

* How many balls will each

* How many balls will each

3ir‘| 9et?

9ir‘| get?

* What is the fraction each 9ir|

will geto * What is the fraction each

503 will get?

MH name 1
E E is LISQ

Se’tp

- - 00000000
00000000 00000000
b HOW mqnﬂ bG"S WI" qucﬂc Gnd I_ISG Setr) ® HOW man bq”s W|" qudld Qnd

@ Lisa get? @

| 2 8 4 B b6 7 8§ 9 [0



John Aitchison
Highlight
delete

John Aitchison
Sticky Note
. What fraction will Mandla get?

John Aitchison
Sticky Note
. What fraction will Lisa get?

John Aitchison
Highlight
delete


a. How many Packets do thetd need to share between:
L, friends? b friends? 9 friends?

b. HOW mdnﬂ ﬁ‘iends can shdr‘e:

L, Pockets? 1O chkets? 3 2l Pockets?

The mothers and grdnnies make doncing skirts.

For | skirt the&d need 2% metres (m) of fabric.

a. How many skirts can the3 make from?

dm IO m
20 m 25 m

b. How much fabric do thetj need to make?
2 skirts 3 skirts L, skirts

c. How much does the fabric cost, to make?
| skirt, 2 skirts 3 skirts

d. How many skirts can theﬂ make for:
RL50 R825 RISO

11 12 18 1& 15 16 [7 18 19 20
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The distance around

The word Perimet.er means the |en3th or distance around an ol?_ject.

A farmer has a trian9u|ar P|ot of gr‘ounc].
12m 12m We can find the Perimeter of the P|ot bH adding
up the |en9ths of the sides.
bm Perimeter =12m +12m+6m=30m
Find these Perimet,ers.
(@)
om Tm a7 m 5
20 m 12 m
T m Tm
T m 12 m

I]

Veronica's gor‘den.

she wants to P|ont.

How much will the fence cost?

2 8 4 B b 7 8§ ¢

Vernio draws a diogr‘om of the gor‘den

a. What is the Perimet.er of the area where
she P|qnts her herbs?

b. Which two sections have the same
Perimeter‘? What, is their Perimeter?

<—5m—><—[|_m—>

3->

W& Flowers 8

Her‘bs %

—><—;) »><

% Fruit 5

3

<

Vegetclo|es

and have a Perimeter‘ of

m.

c. She needs a fence around the whole gcr‘den. The fencing costs RSO per metre.

10



measurements and the crops you would like to grow.

Use 3r‘id paper from Cut-out, 7 to Pldn your own garden. Show all the

2 ,‘;«;

Measur‘ing circles.

Work with a Portner:

Materials: 1O circular ol?jects of different sizes like a
P|dte, a 3|ass, stickﬂ taPe ,a bottle cap, str‘ing and

Scissors

|. Choose one of the round olzjects to measure with
the st,r‘ing.

2.Cuta Piece of str‘ing the exact |en3th thatJust fits
around the object.

3. Now take the same string and stretch it to reach across

the circle. Count, how many times it fits across.
[;.Do the same with other circular ol:zjects.
5. Write what, You notice.

The distance around a circle is called the
circumference.

The distance across a circle is called the
diameter.

11 12 18 1& 15 16 [7 18 19 20




P|03 these games with a Partnen Q g
! Matericls RIO @@QH

|o|03 money (ﬂ‘om Cut-out q): RIOO and RIO notes; R, I0¢ and lc coins.

Place the Moneﬂ Board on the table.
The board has 5 sections which are, from left to r‘ight, RIOO,RIO,RI, 1O

§ cents, and | cent.. For this game we are using the first 3 columns.

) Add up to |00 Rand.

|. Each Io|03er* takes a turn to roll the dice. Add the two numbers together‘.
2. Take that number of Rl coins and P|qce them in the Rl section of your board.
3. As soon as You have ten Rl coins You must, trade them for a RIO note.

ﬂ&?&%@ - [RiO

L, The first one to collect ten RIO notes and trade them for a RIOO note is
the winner.

RIO RIO ]
RIO— RIO ri0 RIO—571 = [RIOO

RIO RIO

5.Penadlties: If a P|c13er~ finishes the turn and forgets to trade ten Rl coins for
one RIO note, and the other P|c13er' catches the mistake, the Peno|t3 is RI.
If a P|03er‘ forgets to trade ten RIO notes for one RIOO note, he or she must.

pay RIO to the other P|03er‘.

| 2 8 4 B b6 7 8§ 9 [0



P|c13 the same game, excePt start
with ten RIO notes, and subtract
the sum of the numbers on the
dice. The P|c13er~ who gets to RO

first, is the winner.

[ RI0Os | RIOs

" Addition and Subtraction to Rl OOO.

Add the sum of the dice on each turn, and take that number of RIO notes.
The first one to reach RI OOO is the winner. Or, start with RI OOO, and on

each turn subtract. The first P|c13er‘ to reach RO wins.

) @, , Aclcling up to RI.

P|c|3 the same as the first, game, excePt this time when You roll the dice and find
the sum, take the sum of the dice in | cent coins. When You have ten lc coins,
change them for a |Oc coin. The first. one who can change ten |Oc coins for a Rl

coin is the winner.

Subtract cents.

Start with Rl, and subtract on each PIGH- The first to 9et to O centsis

the winner.

11 12 18 1& 15 16 [7 18 19 20
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Totals

R20 | R20 | R20 | R20 | R20 | R20 | RI20

R25 | R25 | R25 | R25 | R25 | R25

RS5O | RSO | RSO | RSO | RSO | RSO

R75 | R15 | RIS | RIS | RIS | RIS

RIOO | RIOO | RIOO | RIOO | RIOO | RIOO

a. Find the value of the hats in each row.
b. MaZondo buﬁs | of each kind of hat.

How much does she Py a|together‘? Checkl
c. Buti sPencls RLS50 q|together*. He bugs | hat for RIOO. gf’)':[; c:;j'

What other hats does he buH’? Show 2 Possible answers.
Answer | Answer 2

| 2 8 4 B b6 7 8§ 9 [0



At the baker‘ﬁ.

Musa uses this reciPe to make a sponge cake.

Sponge cake recipe
For the cake: 4O g of se|f—rcisin9 flour; 3 eqgs; 50 g of icing sugar
For the ﬂ"ing: 140 ml cream

a. Work out how much Musa needs, to bake up to 6 cakes.

Cake Flour Esss Icing sugar Cream
= 4O g 3 50 q 14O ml
2
3
A
o)

b
. Y
b. Tick (\/ ] the correct answer. /)
| litre of cream can fill about: 1O cakes:; 7 cakes; 8 cakes J *
%
Check! ﬂ 1 2
Compar‘e.’ K}/

Correct|

5XT0O= TOX2=
2X L= 12X8= bXle= 5X9= 50 x 9=
5X 3= [15Xb= OX L= 8X/L= I8 X L =

11 12 18 1& 15 16 [7 18 19 20
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More about, data
At the |oo|ice station.
Five Po|icemen do difTer-entJobs. Where are theH now?

At the desk On Pqtro| In court
Serufe x
Maria x
Sam x
Amos x
Dudu x
Write the names of who is: At the desk?
On Patr‘or?
In court?

| A -
£
&

Five schools comPete to see who can Plant the most, trees on Arbor DGH.

o,

g"\,
| = |O trees
o e e e e e e i
Mthor)jeni o e L e S e

-y g

i s i @ @ @ 6 i G o
Thuthong ﬂ?‘fﬁﬁ qziﬁz {?«24 {?«24
Mosiba :,?'i :?q Qﬁg 5?; kii,; \?{ - ?5;

How many trees does each school P|cnt?

K|iPsPruit Mthorljeni Sonsan Thuthong Mosiba

How many trees did the schools P|c1nt d|together'?

| 2 8 4 B b6 7 8§ 9 [0
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g 9 The Grade 3 class do a survey in their vi||09e.
Theg want to find out about the kinds of roofs on dif ferent. houses.

Theg show their results in this block grcph.

v v v
Thatch v v v v v v v v
Wood v v v v v
Iron v v v v v v

How many of each kind of roof do theﬂ see?
Tiles Thatch Wood Tron

Which is the most Popu|ar‘ kind of roof ?
How many roofs do theﬁ count a|t03ether‘?

= ,,‘ Hat sizes

| b
.

!’4 The bOHS at Jumc SC|"\OO| wear SChOOI CGPS.

M

The caps come in sizes 2, 3 and 4.

Check!

Compare.'

Count |’10W mdna |earners wear eac|'1 size O'F CGP.
Corr-ect.'

2 3 A

Which is the most. common size?

11 12 18 1& 15 16 [7 18 19 20



C SRR 0000 NI \r 23 leeeccccccccccccccccccccccccccsscscccccs o
N

® . Y Wy

- g ; S 5 % oﬁ“
W@r‘klng in centimetres
(

’ ) How |on8 is the coloured line?

First estimate and then measure the lines.

Com|o|ete the table.

Difference between
Line Estimation | Measurement, | estimation and
measurement

\
Iz 8 & B g 9 [0
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b. 7 cm

C. |5 cm

SGH if You will measure the fo”owing iIn metres or centimetres.

= aThe |ength of abook - Remember the shorter
b. The Iweight of a door words (abbreviqtions) we

use to write centimetre (cm)

c. The |en9th of a Penci|
d. Your Height and metre (m),
e. The |en3t|'1 of your ﬂnger

Dur‘ing the Year you used Yyour ten co|our‘in3 Penci|s. The

|engt|"| of Yyour Penci|s was |5 cm before You used them. O
After You used it Your red Penci| is | cm, blue 5 cm, green b cm, D

He”OW ” cm, PUPPle |2 cm, orcnge q cm, brown |[|. cm, bIGCk 8 cm,

Pink |3 cm and white 15 cm.

a. Which Penci| did You use the most?
b. Which Penci| did You use the least?
c. Write the |ength of your Penci|s from the
shortest to the |on3est
”|” ulz [||3 Ulé U|5 ||6 H|7 ”| Hl@ﬂ 2|@ o9

Y N
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ount and write.

~ i\ a. Use the fo"owing chart to he||3 You count, from
| 700 —800. SQH the numbers out aloud as

You count.

800!

104

710

118

122

136

J/A

A

158

713

188

790

192

795

800

b. Write the missin9 numbers in the gr‘id above.
c. Write the |O numbers that come after 750.

150;

d. Write the next 8 numbers in the 2s Pattern.

162; Tbl,; Tob;

.
,

e. Write all the numbers in 2s Pattern from 75l to 773.

13l;

113

f. Write the next 8 numbers in the Ss Pqttern.

13l; 7156; T6l;

I]

2

3

4

5

6

7

g 9 10
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4 ComP|ete the number lines.

il I I I I I I I I I >

150 153 157 759

I I I
7189| (788 |787

I I I
793| [756] |[799

Write from smallest Write from bigsest
to bigsest. to smallest.

116,712,719, 710,718
13b, 703,730, 713,703

White the fo”owing in words.

188

11 12 18 1& 15 16 [7 18 19 20
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q0
JEAEAE:
5|o)718ld
Peter had the fo"owing
P|qce value cards and base

ten blocks.

nmber‘s 71OO0 to 80

The teacher asked Peter
to show 759 with his
cards and blocks.

This is what Ben showed.
What did he do wr‘ong?

2 Write a number sentence and then the answer.

700 + 60 + 7= 1761

Write a number sentence and then the answer.

q0
——— q

500 6 O

50 9

700 +90 + 9

» | 2 3



" ( P ete the number line.

I
791
Write all the numbers smaller than 795.

Write all the numbers bigger‘ than 795.

¥ ) Fillin <, > or =
a. 7199 1bb b. 745 150
c. I00+90 +7 161

’k, Br‘edk UP HOUI" number‘.
a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

4 )
790 Example: 799 =
689 90
699 ]
755
799
690
799| 700 + 90 + 9
2 & /)

Y4 f::\F Write the number names.

2 18 14 16 16 17 18 [9 20



ount and write.

. ' \' > D a. Use the fo"owing chart to he|P You count 900
| from 800 —900. SGH the numbers out

aloud as You count.

80| 804 8I0
818

822

836
84l 849
858

813

888 890
892 895 900

b. Write the missing numbers in the gr‘icl above.
c. Write the 10 numbers that come after 8OO.

800;
d. Write the next 8 numbers in the 2s pattern.

852; 85/.; 856; : :

e. Write all the numbers in the 2s Pqttern from 807 to 829.

80T : ; : : : : : : ; ; 829
f. Write the next 8 numbers in the Ss pattern.

83L.; 839; 844

I 2 8 & B 6 7 8 9 [0
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How did You count, the blocks?
4 )

ComP|ete the number lines.

Il I I

I I I I I I I Rt
830 833 837| |838
- I I I I I I I I I et
876 88| 88b
- I I I I I I I I I et
843| |8Lb| |8L9
Y, Com P|ete Write from smallest Write from bigsest
’ t,he t,oHe. to bigsest. to smallest.
856, 853,855, 85|, 857
898, 80, 810, 819, 84I

Write the fo”owing in words.

8L5
11 12 18 1& 15 16 [7 18 19 20
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nmber‘s 800 to qO

The teacher asked Peter
to show 85/ with his cards
and blocks.

This is what Ben showed.
What did he do wr‘ong?

Peter had the fo"owing
P|qce value cards and base

ten blocks.

2 Write a number sentence and then the answer.

800 +80+5=

885

Write a number sentence and then the answer.

50

|
2

8 OO0

90

y

80O |

3

800 + 580 +2

76 I 2

|©




& . P ete the number line.

< I I I I I

889| (890] | 84 900
Write all the numbers smaller than 89L.

Whrite all the numbers bigger‘ than 894.
f “1' Fillin <, > or =
. a.899 898 b. 802 820
c. 900 +70 +5 185

’k, Breok UP SOUF‘ number‘.
a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

e R
890 Example: 87 [0~ 07
889
7 0O
802
b
87 b
8/6/800 + 710 + b
\. )

: Write the number names.

2 18 14 16 16 17 18 [9 20
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Wl Weighing things

NA D Look at the fo"owing Pictures and answer the oluestions.

a. Isthel kg washing Powcler |i9hter~ or heavier than the 2 kg woshing Powder?

b. What is |ighter: The 500 g breakfast cereal or the 200 g of biscuits?

c. What is heavier: The |00 g skin care cream or the | |(3 Pocket of samp?

I 2 8 & B 6 7 8 9 [0




.5 kg is the same
as | kg and 500 g-

25 kg is the same as
2 kgand 500 g

How can I write 3,5 kg as

ki|09roms and gr‘qms?

Com|o|ete the table.

\ Your teacher will give You five 0L3jects to look at. Estimate their weight
o)y and then measure it.

Diff. bet
Estimation Measurement, ference berween

estimation and measurement,

How much do the Procluct,s weigh together?
The first Pr'oduct weighs 2 kg 500 9 the second Product
| kg 500 g and the last Product 3 kg 500 g.

11 12 18 1& 15 16 [7 18 19 20
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Cet’s wigh soe mor

Mass is the measure of how much stuff or matter there is in an object.

The more there is, the harder it is to move it..

Weight is a measure of the force of Srovitg Pu"ing on that matter.

Grcwitg is less on the moon so things wei3|'1 less there.

On ear‘th f\OI" eVGI"HCIGH PUPPOSGS we use the same measures 'FOI"

both mass and weight. We measure mass in |(i|09r‘qms and grams.

Different scales

We measure mass with a balance and

weight with a sPr‘ing scale. This fish has a

A litre of water has a mass of | kg. weight, of 7 kg.

Write the weight in kg shown on each of these
sPr‘ing scales.

I] SR



We use grams to measure the mass of
smaller or |i9hter‘ ol?jects and to

measure fractions of a ki|ogrqm.
| 000 = lkg

On this sPring scale, each small line is
IO grams of weight. The tomatoes
weigh 320 grams.

~ How much do theﬁ weigh?

Draw where the arrow on the scale must. go each time.

P B Make a |(i|ogr~om.
Add on to make | kg (l 000 g).

a.1259+250 g + 125 g + g=1000g(kg
c.579+[|.bg+2[|.38+33[|.3+ ZIOOOg“kg]

d.50g+90q+160 g+ =1 000 g (Ikg)
I 1z 18 14 05 16 17 18 [9 20




NA D a. Use the fo”owing chart to he|P you count

B ——

ount and write.

from 900 — 1 OOO0. SCIH the numbers out

aloud as you count. 900
90l 903 q10
q19
943 SRS
98|
qq| 999

b. Write the missing numbers in the 9rid above.
c. Write the 1Q numbers that, come after 9O0.

900;

d. Write the next 8 numbers in the 2s Patterns.

9L.6; 9438; 950;

e. Write all the numbers in the 2s Patter*n from q[|.5 to 96].

9L45;

; o]

f. Write the next 8 numbers in the Ss Pottern.

936; 941; 946;

I]

2 38 4& & 6

7

9

10
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\ How many blocks do You count?

950 |

N J

ComP|ete the number lines.

How did You count the blocks?
4 )

I I I I I I I I I >

1 1 1
903| [906| (909

Y Com |ete Write from smallest Write from bigsest.
= t,he tob|e. to bissest. to smallest.

936, 933,935, 93,937
978,907,970,4917, 97|

White the fo”owing in words.

| 695
I 12 18 4 (& 16 [7 18 [9 20
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MBS mumbers 900 to | 000 |

1000 300 The teacher asked Andile This is what Gugu showed.

joo | 209 S to show 932 with his What did she 30 wrong?
q Loo|500° (:Z - cards and blocks.

700|800

‘O 20 30 LO

1o | 7o lis

q0
p|2)31%
5|o)718ld
Andile had the fo"owing
P|qce value cards and base

ten blocks.

Write a number sentence and then the answer.

&
99

)

900 + 80 + 4 =| 98L

Whrite a number sentence and then the answer.

900 900]|
q0 20 — 3
—q

900 + 90 + 9

w | 2 8 4 9



” ( P ete the number line.

989| (990 qq 999
White all the numbers smaller than 995.

Write all the numbers bigger‘ than 995.

&
a. 999 7998 b. 957 975
c. 900 + 60 + | Yol

S22, Break up your number-
a. Build each number with your cards.

b. Write the value for each digit. Now do these: Break up your number.

992 ( Example: 984, 900 )
959 30
980 L
9 8 L
98L4.| 900 + 80 + L

g _J

Write the number names.

2 18 14 16 16 17 18 [9 20
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' \'5 Whrite a number sentence for each.
LF

T T | ———

Exp|oin how you counted the blocks.

Use the exclm|o|e to guicle You.

50 5 O |double 50is OO0 3001|300
200][200]5 3|3 &
<)) Use near doubles to solve the fo"owing.
2 £ Use the exomP|e to 9uic|e You.

a. L3+ L1 = double 4.3 + | L3+ L3+ 1=87

b.8l + 82 =

c. LO + Ll =

d. bb + b/ =

I 2 8 & B 6 7 8 9 [0
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Use doubles or near doubles
, Lo solve the fo"owing.
Use the examP|e to guicle You.

a. Double 34,0 b. 340 + 34l
= 3[..0 + 3[..0 = Double 3[..0 +
= Double 34,0 =300 + 300 + 4O + 4O + 1
=300 + 300 + 4O + LO =b00 + 80 + 1|
=600 + 80 = 68l
=680
c. 710 + L]0 d. bl + 462

OB Solve the following: (i SISO
(Q‘\t/ R Oolve Lhe Tollowing 3 fc:ﬁﬁ. ‘

The rqde 2s have a collection of 360 mclr‘lo|es-. .
The Grade 3s have 2|b fewer marbles than the Grade 2s.
How many marbles do the Grade 3s have?

11 12 18 1& 15 16 [7 18 19 20
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| About the house
Boking doﬁ.
Aunt, Phindi bakes bread in her oven.
Show the time on these watches.

1 \
| B
| .
.

She Puts the bread in at a c[uor‘ter Post L.

She takes the bread out, at, five Past five.

How |ong does the bread take to bake?

Ann's mother uses a microwave oven. It is much quicker‘.
Tt is now 16:30. Look at. the cooking time set on the microwave oven dial.
When will the bread be readﬁ?

How much cluicker‘ is the microwave oven than the other oven?
minutes.

Mor‘ning J'olos.

On Satur‘leH mor‘ning Musa and Palesa he|P
their mother in the house. How |ong does each
task take?

Start End How |on9?
Make breakfast b:15 b:L0
Wash dishes 1.20 8:05
Clean the kitchen 8:20 Q15
Clean the bathroom |0:00 10:25
Clean the bedrooms 1:30

I 2 8 & B 6 7 8 9 [0



How many litres of water can a hosePiPe use in:

2 minutes litres.
2 % minutes litres
O minutes litres
|O minutes litres.

BObUIS thher mqkes ond se"s CUPP\LJ. In one week, he uses 750 m| Of‘ OII

He writes down how much oil he uses each dqg.

MOI'\ Tues Wed Thur‘s

Fridaq Sat

ml

b. How many millilitres (m” of oil does he use on Sundog?
c. One 750 niillilitres (mn bottle of oil costs R|8,5O

ComPGr‘e.’
Correct.’

How much do £ bottles cost?

11 12 18 1& 15 16 [7 18 19 20



A train i Journey.

ngthl and her 3 children goon the train.
Adults and children Py the same.
ngthi pays with these notes.

She gets R3O chqnge
What, is the Prlce of | ticket? Tick (\/ ] the correct, answer-
a.R90 b. R32 c. R8O d. R45,50

I 2 8 & B 6 7 8 9 [0




ndi|e keeps a record of his eqrnings in a table.

First, he estimates his dai|3 income and then he calculates his dail
income exoct|3. Income is the money we earn or receive. He||o Sandile to
comP|ete his calculations in the table below. Write Your answers in the table:

Estimate | Total

Monday  |R5O + R75 + R200 + R350 + R25
Tuesday  |R25 + RI75 + R50 4 R320 + RI0
Wednesday [R50 + R75 + R200 + R350 + R25
Thursday |RI20 + R55 + RISO + R245 + R25
Friday RGO + RI50 + RILO + R200 + RI25

Saturday [R50 + R75 + R200 + R350 + R25
Sunday

Work out the change.

: L) To work out Your chdnge You can add on from what the things cost

‘, -

to how much money in notes You hand over.

Exampl: +50c +R2 +RIO +RIOO

Palesa buys food for R87,50 / [ [ v/ y

She pays with aR200 note. R8750 R88 R0 RIOO R200

What, is her change? 50c SR R2 O RIO S RIOO = R”2,5O
change

Use number lines to he|P you work out, the change.
Cost.: R2q,O |

11 12 18 1& 15 16 [7 18 19 20
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More additionand
subtraction to 999

) Let, us solve the Prolo|em.

Crugu collected 23[,. stickers. What is the question?

How many stickers does she have now?

Mandla gave her 5Ol more stickers.
How many stickers does she have now? What is the keﬂ word? more

This is what. Lisa did to What are the numbers? 23/ and 50I

" solve Gugus Problem. Let, us show this with our base ten blocks.

How is Lisa's P|ocin3 of her base ten blocks similar to Aakar's dr‘owing.

Use the numbers in the Prol:>|em to solve it below using two methods You have learnt, so far.

Method | Method 2

B2 S h e 9 10



:|n9Jo-&
Thembi collects items for the school's r‘ec3c|in3 Pr‘czject. She collected
b2l P|qst.ic bottles and 268 tin cans. How many items has she collected?

What is the oluestion'?

What are the numbers? What is the ke{-j word? Tick the correct
answer. | he keg word tells us to:

Add -

Make a drcwing. Use your own method to solve the

Pr‘ob|em.

The shoP had 900 chkets of sugar. After se”ing some Packets, theH had 659
Pockets of sugar left. How many Pcckets did theﬂ sell?

What. is the question?

What are the numbers? What is the keg word? Tick the

correct, answer. The ke3 word tells

us to:

Add -

Make a drcwing. Use ?our own method to solve the

PI"OID em.

11 12 18 1& 15 16 [7 18 19 20



btraction to 999 again

| ook at, the cliogr‘oms and describe it..

a. 223+ 223 = e. WI7+117=

b. 160 + 160 = f. 150 + L50 =

c. NI5+1I5= g N2+ =22/,

d 315+3I5= h. 116+ =232
Write the numbers

a. 12 more than 523 is o. 537less 29 s

b. 15 less than 540 is f. Half of 300 is

c. 20 more than 576 s g Double 420'is

d. 60 less than 590 is . Half of 600 is

I] e 9 10



1kes a ‘.‘

- [200 + 150 +50 +

=1000 [& |25 +

+ 900 =1000

b. 11000 =560 +

+400 |f

+ 700 + 50 =1000

e 610 +

=1000 J

| 000 = £20 +

+ 500

d |90 + 4O +

=1000 h.

+ 30 + 900 =1000

Find the + and — number families

Example: 125 + 600 =725 725125 =600 725-600 = 125

123+ 77=_ |

 1-77=123

=123 =77

650+ |=800

800-650 =1

. |+650 =800

1000-250 =| |

1000 |=250

250 +| |

56+ =300

300-| =56

~ lise=[0 ] !

820+ |=1000

1000- =820

Add and take away tens and hundreds

a. Tens ond hundr‘eds

1000-820 = |

L U €

=1000 Compare.’

78+10= |l49+10= |45b+100= |987+10=
b3b + 100 = [80I+ 100 = |727+100= |bl2+10 =
45610 = 749-100= ([829-100= |987-10 =
815 + 10 = 7109-100= (8I5+10 = 903-100 =
b. Whole tens (Mu|tip|es of |O)

150 - 30 = 190 - 60 = 75 -50 = 990 -80 =
20+90= |335+60= |bbO+50= [8I2+60 =
256—-50 = 320-30= |785-60 = 999-90 =
ob] + 37 = b/l + 90 = 832+80 =[928+ 80 =

Solve the fo"owing:

925+53=] | 511+202=] | 786+75= |903+95=[ |
164 20
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John Aitchison
Sticky Note
Move to left side

John Aitchison
Sticky Note
Move to left side

John Aitchison
Sticky Note
300  [REMOVE frame]
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Measurement, Puzzles

Find the area
How many squares this size . do You need to comP|ete|3 cover each

ﬂgur‘e? Use Your own way to work it out. You can draw squares on the

Pictures to he|P You work it, out..
b.

Solve the riddle

You want, to measure out exact|3 L, litres of water.

You have on|3 two containers: one holds 3 litres
and the other 5 litres. How do You doit?

Clue: there are at least, two PossiHe ways.

I 2 8 4 B 6 7 © 9 0
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Three blocks are 3|ued together‘ as in this Picture.

If You Pick up theJoined together‘ blocks how many

squares do You count, on the outside?

HOW mdhﬂ cubes mcke UP thIS SI‘\GPG’?

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Chq"enge: a time riddle :
Checkl
Clues Comparel

Correct.'

You have two sand timers.

One measures exqct.|3 "] minutes and the other measures exoct|3
[l minutes.

How can You use the timers to find out when exqct.|3 |5 minutes has qused?

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

11 12 18 1& 15 16 [7 18 19 20
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Number Patterns tens up to qOO
Let, us count in tens from 8I0 to 9O0.

80! [802(803) 80L |805 |80b | 807)| 808 | 809
8ll | 812 ((813) 8I4 |85 | 8lb { 87) 8i8 | 819
821 | 822 (823) 824 | 825 | 82b | 827)| 828 | 829
83l | 832 (833) 83, | 835 | 836 | 837)| 838 | 831
8L1 | 842 (843) 8L | 845 | 8Lb | 847|848 | 849
85! | 852 (853) 851, 855 | 856 | 857)| 858 | 859
86l | 862 (8b3) 8bL | 865 | 8bb | 867|868 | 864
87l | 872 (873) 874 | 875 | 876 [ 877) 878 | 874
88l | 882 (883) 881 |885 | 886 | 887)| 888 | 889
89l | 892 (893) 894 | 895 | 896 | 897)| 898 | 899

4 What, Pct,ter‘ns do the circled numbers show us?

Clrc|ed in red: Countlng in_ Write down the Pottern:
Circled in green: Counting in . Write down the Pot,tern:

S 7 Caleulate.

q.87A+IO+IO+IO= b. 858 -10-10-10-10=
c. 845+ 10+ 10 = d.858—-10-10-10 =
e.83b + 10 = f. 866—-10—-10 =
9892+ 10+ 10+ 10 = h.87-10-10-10 =

i. 880 +10 +10 = j- 855-10 =

I 2 8 & B 6 7 8 9 [0



) " »"i rhonﬁ sticks?

§ in a bundle W

|

fif

There are ten sticks

| % = sticks
2 % = sticks
3 % = sticks
A % = sticks
S % = sticks
b % = sticks
] % = sticks
8 % = sticks
9 % = sticks
IO % = sticks

| row of 10 bundles = |OO sticks
2 rows of 10 bundles =

Ly rows of 10 bundles =

IO rows of 1O bundles =

HOW manﬁ bund|es?
700 sticks make

X ';/':" 900 sticks make
| OOO sticks make

[RIRSS 788 = B2

[0

20
30
4O
50

sticks

sticks

sticks

buncﬂes.
Iounc"es.
bund|es.

15

16

sticks
sticks
sticks
sticks
sticks
sticks
sticks
sticks
sticks
sticks

There are ten bundles of sticks in a row = [OO sticks

IO X 10 =100
20 X 10 =

7

i8

164 20
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We did some rounding offina Previous worksheet. Look at this number line and

exP|c1in to Your friend how you will round of f to the nearest ten.

il I I I I I I I I I >

| 2 3 [|_ 5 b 7 8 q O E:\)emember You should |003

t the units when rounding
of f to the nearest |O.

|1£; rounded of T is? II7 rounded of f is?

Il I I I I I I I I I >

IO 1l 112 113 |I4 15 lle II7 I8 9 |1 [120

159 rounded of f is? 15| rounded of f is?

| I I I I I I I I >

I
150 | | 19l 192 | (193 | |154 | [195] [I1B6| |I157] [198] |189 | |160

B2 S h 8


John Aitchison
Highlight
these numbers to 

John Aitchison
Highlight
195 rounded off is _____

John Aitchison
Highlight
945 rounded off is _______

John Aitchison
Highlight
Fill in each number lines.


HOU POUI'\CI off

a. write down between which two tens the number to be rounded of f is.

b. show with an arrow more or less where this number to be rounded of f will
be on the number line.

a. ol b. 583 SWALS d. 848 e.bl2

T f.230 g. 327 h. 989 i. D34 j 148

,;; How many RIO notes do I need?

Mloah and her 8 friends are going to the school’s fun ch The fun doﬁ costs R
per person. Mbali saved money and of fered to Py for her friends. She went to
the ATM to withdraw money. The ATM on|3 Sives notes. How many RIO notes
does she need?

11 12 18 1& 15 16 [7 18 19 20
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> Miphcqt.on and division:
fives up to |00

;,’ ) Com|o|ete the flow diagr‘ams.

input output input outPut

o) X 9 b X [,
7 7 § g
9 10
ComP|ete the table below:

< | 2 | 3 | L | 5 | 6 | 71| 8 | 9 10

N\

£59) Caleulate:

Il xS

=(0+2)x5
=50 +10
=60

I3 x5 L. x5

=(0+3) x5
=50 +15

=850+10+5
=65

I 2 8 & B 6 7 8 9 [0




=(LO0O+5 =<5

=(L5+5+((5=5)

=8+

=9

L8+5 I3+95
=(LO0+8)+5

=(LO = 5)+ (8 =+ 5)

=8+ lrem3

=9 rem3

) ’ Solve the fo"owing Pro|o|ems:

| l | |

A vegetab|e gar‘clen has |[|. rows of P|ants. | | N
Ever‘H row has the same number of Plonts.

If there is a total of 70 Plonts, how many
P|qnts are there in each row?

David sells bass of oranges. He Put,s five oranges in each bag.

He I’\GS 85 or‘qnges.

How many bags can he fill?

11 12 18 1& 15 16 [7 18 19 20
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Numer‘fa@tter‘ns ﬂves up t.o | OOO
Let, us count. in fives from 805 to 900.

80! [802 (803) 804 [805| 806 | 807 (808) 809
8ll | 812 (813)) 8l4 | 815 | 816 | 817 (818) 819
82! | 822 (823) 82/, | 825 | 826 | 827 (828) 829
83! | 832 (833) 834 | 835 | 836 | 837 (838) 839
8Ll | 842 (843) 8LL |8L5 | 8L4b | 847 (848) 849
851 | 852 (853) 854 | 855 | 856 | 857 (858) 859
86l | 862 (863 8bL | 865 | 8bb | 867 (868) 869
871 | 872 (873) 87., | 875 | 876 | 877 (878) 874
88l | 882 (883) 884 | 885 | 886 | 887 (888) 884
8ql | 892 (893) 894 895 | 896 | 897 (838) 899
What, patterns do the circled and shaded numbers
~ | show us?
Circled in blue: Counting in
Write down the pattern:
Circled in purple: Counting in
Write down the pattern:
> Caleulate.
W 81645+5-5—  |b850-55-5-  |o8l545+5-
4830-5-5-5=__ [« 886+5=__  |f8-5-5=__
§802+5+5+5=__ |h80-5=_ . 853-5-5-5=_

| 2 3

4

5 6

7

g 9 10




Number board 901 to | 000

90l 903|904 {9035 | 906
qall A3 | di4 | 9IS | dle
92| 923 | 924 | 925 | 926
93l 933|934 | 935 | 936
9Ll 943 | 944 [ 945 | 946
95l 953 | 994 [ 955 | 956
Yol 963 | 96/ | 965 | 9bb
97l 9713 | 974 (9715 | 976
98| 983 | 984 | 985 | 986
99l 993 | 994 | 995 | 996

£)

- 0 ~
sy
L 3

same r'owr)

908

909

a8

919

928

929

938

939

948

949

958

959

968

969

978

979

988

989

998

999

Fill in the missing numbers.
( % » What is the difference between the green and PurP|e numbers in the

s Com|o|ete the Potterns

Do You notice the Pqtter‘n?

Describe it..

963,968, 973,978,983,

9L4.4, 949,954, 959, 964,

921,926,931,936,94],
956,951, 946,941,936,
982,987.992,997,
927,922,917,912,907

11 12 18 1& 15 16 [7 18 19 20




P|o ith a Partner using one of the sets of
ti|ing Puzz|es [with |[|. Pieces) from Cut-out, |O.

Each P|c13er‘ has half of the Pieces (7 Pieces] of ti|ing Puzz|e shqpes.

No Piece must be the same.
Draw aline a|on3 the middle of a Piece of paper. This will be the “line of reflection”.
The first P|c13er P|aces one of his or her Pieces next to the line.

The second P|c13er‘ now Puts its reflection on the other side of the line. It must.
touch the line or one of the d|r‘eoc|3 P|ocec| shopes.

Continue until all the Pieces are used.

B2 S h e 9 10



e
R
g

"N Draw the other side of the shdpe.
() Show the line of sammetr‘ﬂ.

s N [ D W — D
Examlo|e: /\
- AN o J
f N\ [ m N ¢ )
/AN J = J
Draw the lines of symmetry on the fo"owing:
: N N Ve 2
\ L J J Y
~ N N aYa A
\ J J J\ Y B
= ’ Tick the shaPes that have the correct lines
o of SHmmetr‘H. / §
T R 4 — Y- N (7 N e
< T
Teacher:
Sign:
Dat.

-

@

&

Q)

-

@

-

@

I

12

I3

5

16

7

i8

164 20
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Number Pat.t.erns twos up to qOO

Let, us count in twos from 802 to 900.

= P Py rpe Naralano,
(801)802 (803804 (805806 (807) 808 (809) 8I0
(8l ) 812 (813 )] 8l4 {815 8lb (817 ) 8I8 (819820
o e anr oo "~ aoa [ao0)
(821822 (823 824 (825) 82b (827 ) 828 (829830
(831832 (833 834 (835) 83b (837 838 (839 840
g@ 84,2 g@ 8L g@ 846 @2 848 g@ 850
>85| 852 §5% 85/, gg 856 85% 858 g@ 860
>8@ 862 gb% 8bl, gbg 8bb 82 868 gbg 870
>87| 872 /@73< 87l, /@5< 876 @7< 878 /@7@!< 880
>88| 882 gsg 88, gsg 886 88% 888 gsg 890
(891 892 (893 )| 894 (895 )| 89 (897 ) 898 (899900
What, Pqtt,erns do the circled and shaded numbers

A show us?

< \

“-Clr‘c|ec| in blue: Counting in
Write down the Pqttern:

Coloured in green: Countin9 in

Write down the Pottern:

SR Caleulate.

a 872+2+2+2:_ b.820-2-2-2= |c 844 +2+2=
d 832-2-2-2-2= e. 883+2= f 8,2-2-2=

g 80I+2+2+2+2=__  |h85-2=_ . 8,6-2-2-2=

I 2 8 & B 6 7 8 9 [0



a. quw a [ )() next to the odd numbers and a (\/ ) next to the even numbers.
{ q23 dJe 907 929 4912 qll q15

q08 925 93 930 4910 909 922 933

IO. Answer even or OCICI

P

Add two odd numbers. You get. an number. :‘ﬁ o |Ii y

Add two even numbers. You 3et an number. 9 ’\‘""I %
You add three odd numbers. You get an number.

P|c|nting trees.

This is one WGH to P|ont out, 48 treesin ecluc1| rows.
Wwwwwwwwwwwwwwwwwwwwww

We can write: 2 X 24 = 48 (2 rows of 24 trees = 48] or 48 +2 =24

(48 trees Put out in 2 eo[uql rows glves 24 trees ina row) Count, the rows and the
trees in each Plcture below. Write a X and a = number sentence to match.

X _ A o T A Ao o A A

Q. — T T T 4T T

b. X = TTTTTTTTTTTT
ga‘icga‘icga‘ic%c%c%c%c%c%c%c%c%c%c%cgqﬂ

d. Find another way to P|c:nt 4.8 trees |e. Find another way to P|c1nt 4.8 trees

iN rows. in rows.
X = X =

11 12 18 1& 15 16 [7 18 19 20




%> Miphcqt.on and division:
twos up to |00

;.’ _) Com|o|ete the flow o|ic19r‘ams.

output

- L. T

inPut

N

<7

ComP|ete the table below:

X I 2

3

L

5

b 7

o
0
O

@ Calculate:

=(l0+2)x2
=20+ [
=21

Il x 2

I8 x 2

=(0+8)x2
=20+ 16

=20+10+6
=36

22 x 2

| 2 3

4

6 7 © 9 10



=(L0+2)+(b+2)
=20+3
=23

L]1+2

=LO0+7)+2
=0 +2)+(7+2)
=20 + 3rem|
=23 rem |

15+ 2

‘ "

olve the fo”owing |oro|o|ems:

Each row has 2 P|ants.

A vegetab|e gar‘clen has 32 rows of P|qnts.

How many P|ant,s are there in the garclen?

A vegetab|e garclen has [..O rows of P|ants.
Ever‘g row has the same number of Plants. |

If there are a total of 8O P|ants, how many |:>|ants are there in each row?

11 12 13

Iz 15 16 [7 & S 20
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%> Miphcqt.on and division:
threes up to |00

;.’ _) Com|o|ete the flow o|ic19r‘ams.

outPut inPut output

2
\ ru|e

<7

ComP|ete the table below:

X I 2 3 A S b 1

o
Q
O

& Calculate:

Il x 3

=(l0+2)x3
=30+6
=3b

I7 x 3 9 x 3

=(l0+7)x3
=30 + 2|

=30 + 20 +1
= 5l

I 2 8 & B 6 7 8 9 [0



=60 +3)+(3+3)

=20 +|

= 2|

65 +3 98 + 3
=60 +5 =3

=60 +3)+(5+3)

=20 +lrem2

=2l rem 2

‘ "

olve the fo”owing |oro|o|ems:

Marlene has 30 sweets.

This is ten times more than what Jacob has. é@% éﬁ

HOW mGnH sweets CIOGS JGCOb |'1CIV€?

A vegetab|e garclen has 29 rows of P|qnts. ‘

Each row has 3 P|qnts.

How many P|onts are there in the Sar‘clen?

11 12 18 1& 15 16 [7 18 19 20
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Number‘ Patterns thr‘ees up to | OOO
Let, us count, in threes from 803 to 899.

50

02

803

B00

805

806

807

809

(810)

€D

812

<

815

(817

818

819 (820

8196

82

829

82L

825

(820

82171

(829

830

8318

(622

833

N

835)

83b

837)

839

60

3
(841

842

B

8L4

845

(8L7

848

(8.9

1/(850)

83l (3

(853

89/

(856

857

55516

51

860

oD

62

863

o

5

8bb

(868)

869

(87)

812

<y

875

(877

8178

D

&0

88l

(883

88

(886,

887

889

890

s

893

(892)

&N

896

(895)

(897)

899

7)(898)

900

Ll
‘ What Pctterns do the circled and shaded numbers

ShOW US,)

dCir‘c|ed in orange: Counting in
Write down the pattern:
Circled in green: Counting in
Whrite down the pattern:
6 2 Caleulate.
a. 873-|—3-|—3+3—_ b. 82,-3-3-3=_ | 84I+3+3=_
d 837-3-3-3-3= |6 889+3= f8,6-3-3=
g 802+3+3+2=__  |h89-3=__ i 80-3-3-3=__

I 2 8 & B 6 7 8 9 [0



~ Fr o e e i o r———
- l' //

S
-l- L™

s . N

=y I, o

X .Y A" A B

- i @
o i Te .l. T '
i , -* b l-a 5 ,

S
--ﬂ_‘/

Number boarc q0| to | 000
q0I 903|904 906 | 907 909 | qIO
q12 | 9I3 q15 | dlb q18 | 919
92| | 922 92/ | 925 927 | 928 930
93l 933 | 934 936 | 937 939 | 940
942 [ 943 945 | 946 948 | 949
951 | 952 954 | 955 957 | 958 960
g6l 963 | 96/, 966 | 96/ 969 | 990
972 | 973 975 | 976 978 | 979
98l | 982 98L | 985 987 | 988 990
qq] 993 | 994 996 | 997 999 |1 000

Fill in the missing numbers.

&0 Colour the missing number blocks green. Colour the white blocks with
- numbers in them red. What, Pottern do You see?

; : ComP|ete the Potterns.

a. Add L threes to 98I. 984, 987,990,993
b. Add 5 threes to 973.

c. Subtract £ threes from 975.

d. Subtract 3 threes from 947,

e. Add 2 threes to 932.

11 12 18 1& 15 16 [7 18 19 20




- MﬂZ |t|P||ce|t|@n@|nd @JlVlSl@n
fours up to |00

: f _/() Com|o|ete the flow clidgrams.

inPut output inPut output.
I 2
N\ B /-
5 X [, b A
7 7‘ § 8 7 §
q 1O
) © Com|o|ete the table below:
2 3 L 5 b i 8 q O
L
@ Calculate:
Il x £
=(10 + 2) x
=[O0 +8
=18
I3 x L 15 x L,
= (10 + 3) x
=30+ 12
=30+10+2
=52

| 2 3

3B

7 8 9 10



=(LO0+8)+L

=(LO + L)+ (8 + L)

=0 +2

=12

LS+ L L9+ L
=(LO +5) + L

=(LO + L)+ (5 + L)

=10 + | rem|

=l rem |

g s
Solve the fo”owing |or0|o|ems:

TonH has 36 sweets.

He eats £ sweets every dqg.

For how many Cldl:js can he eat, sweets?

David sells chkets of oranges. He Puts four oranges in each Packet.

He hGS 88 orcnges.

HOW manﬁ PGCketS can he 'FI”’?

11 12 18 1& 15 16 [7 18 19 20
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Number‘ Patterns fours up to | OOO
Let us count in fours from 80OL to 900.

gam 802 gos 804 g@ 806 §® 808 g@ 810
€ 812 (813) 8l \8I52 8lb /8I7) 818 >8@ 820
(821) 622 §23 B2L, (625 826 (627) 628 (829 830
(831) 832 (833) 83 (835) 83b (837) 838 (839) 840
(841|842 (843) 8LL (845) 846 (8L4T) 848 (849) 850
(851)) 852 (853) 85L (855) 856 (857) 858 [859) 860
gsbl 862 gbB 8bL E@ 8bb g@ 868 g@ 870
(87672 (873) 814 (675) 876 (877) 878 (579880
(881) 882 (883) 884 (885) 88b ((887) 888 (889) 890

T ‘o o o ‘s
(891 ) 892 {893 894 (895) 896 (897) 898 {899 900

73 o
8 What patterns do the circled and shaded numbers

ShOW USr)

>vAC|r*c|ed in green: Counting in
Write down the Pottern:

Circled in |our|o|e: Counting in
Write down the Pattern:

S hth b b 82hbbe  leslOthih-
d 83b-L-L-L-L=  |e88+L= f 85-L-L=
g 803+ h4+L+4=_ |h8B-L= . 850—4—h—b=

I 2 8 & B 6 7 8 9 [0



~ Fr o e e i o r———
- l' //

S
-l- L™

s . N

=y I, o

X .Y A" A B

- i @
o i Te .l. T '
i , -* b l-a 5 ,

S
--ﬂ_‘/

Number board 901 to | OO0
90l 903|904 [905 907|908 | 909
il | 912 | 913 5 | 9l | qI7 99 | 920
92| 923 | 924 | 925 927|928 | 927
93l {932 | 933 935 (936 | 937 939 | 940
STA 943 | 944 | 94D 947 | 948 | 949
951 | 952 | 953 955 | 956 | 957 959 | 960
96l 963 [ 9b4 | 965 967 | 968 | 969
Q71 1972 | 973 975 | 976 | 977 979 | 980
98l (982|983 | 984 | 985 987|988 | 989
991 | 992 | 993 995 | 996 | 997 999 |1 000

Fill in the missing numbers.

&) Colour the missing number blocks green. Colour the white blocks with
: numbers in them red. What, pattern do You see?

; ; ComP|ete the Potterns.

a. Add £ fours to 980. 98L., 988,992,996
b. Add 5 fours to 97I.

c. Subtract 4 fours from 963.

d. Subtract 3 fours from 927,

e. Add 2 fours to 938.
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Eqal Parts of a whole

One half, any way you cut it.

Cut out, some r‘ectonP|es

ﬂ‘om co|our‘ed PGPer‘ rom

Cut-out, | |).

EXP|ore different ways to make one half.

l. Fold a paper rectang|e in half |en9thwise. Cut the
paper in half on the fold. Both Pieces are exoct|3 the

same size. Each Piece is one half [Ql) of the or‘igina| rectong|e.

2.Fold ancther paper rectan9|e in half on the cliogoncﬂ.
Cut the paper in half on the fold. Both Pieces are
exoct|3 the same size. Each Piece is one half of the

originq| Piece of paper.

3. What is another way to divide the paper into two
ecluc1| Por‘ts? ExP|ore with paper and scissors, and
then sketch in the line where You fold and cut..

. Mor‘e eClU(Jl PGT‘tS O'F a who|e.
Yy )
When we divide something into 2 equc| Ports we call
the Ports halves.

When we divide something into 3 ec[uo| Ports we call
the Por‘ts thirds.

When we divide something into / equc| Ports we call
the Ports fourths.

When we divide something into O ecluq| Port.s we call
the Ports fifths.

Yy | 2 8 & B 6 /7 © Y




Thabo and his 3 friends make lots of sandwiches for lunch.
Theg cut them up into fourths or o[uarters.

This means theg cut them into 4 equa| Pieces.
Here is one way. Show 3 other ways theH can do this.

< R Dividing into fourths.

45

Check!

Comparel
Correct!

When we cut something into quorters (%s) we divide it into [,. equo| Pdrts.
Tick (\/ ) the Pictures below that, show ciuqr*ter‘s or fourthes.

m
¢ i
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Fraction ProHems

Term 4

Discuss the fractions with your friends.

Solve the fo"owing Prolo|ems 53 onswer‘ing the

oluestions and mdking clrawings.

a. Tl’\e netbo" COGCh 3ives hdlf‘ an or‘onge to eoch P|c|3er‘. Ther‘e are I[|. PlGHGPS.

HOW mcng or‘qnges does she need?

What is the question?

What, are the numbers or fractions in the Prob|em?

tht is ‘t,he keﬂ word? FI' he kéﬂ word is the word
Chat will he|P me to choose

Dr‘dw a Pictur‘e, the correct oPerat,ion.

What, is the answer?
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b. MH mother‘ gqve me qnd mg e|even friencls eac|'1 a oluar‘ter‘ Of an QPP e.

How many GPPleS does she need?
What are the numbers or fractions in the Pr‘ob|em?

What is the kef-j word?

Draw a Ioicture.

What, is the answer?

c. At the school fete theﬂ sold cakes cut up into three Pieces each.
Thet.j sold Pieces of cake to 24 PeoP|e.
How many cakes did theH sell?

What are the numbers or fractions in the Prob|em?
What is the keH word?

Draw a Picture.

What is the answer?
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W objects

ook at the Pictures.

Which group shows balls, c3|inder‘s and boxes.
A B C

'3

)
£ /
— S
O (& > ) l
Z
N :/

Find two Pictures of each and Poste them below.

>y Underline the correct, answer.
Jo & Q. A tomato is bo”/loox/cahnder‘—shqped.
1o

b. A dr‘inking 3|oss is |oo||/|oox/cH|inder—shopecl.
c. A book is ball/ box/c3|inder—shqped.
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. ‘ St,r‘oight and curved.
P

= Some solid olgjects on|3 have flat, surfaces. Others have curved surfaces.

A c3|inder has two flat, A cone has one flat, face |A sPhere has curves on|3,
faces and one curved and one curved face. in every direction.
face.

Ro”ing

Think about, how a c3|inder‘, cone, or sPher‘e can roll.

Answer these cluestions about, the 3 ol?jects:

a. Which one cannot roll very far?

b. Which one can roll on|3 in a straight line?

c. Which one can roll in any direction?

T ) " What is a net?
A flat shaloe that can fold up to

make a solid ﬂgure is called a net..

Write the letter of the net that can fold up to make a cone.
Write the letter of the net that can fold up to make a 03|inder‘.
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@W More fractions
&y

A S(() Name the fractions.

Write the fraction for the Pictures below.

O O
© 0

a. What fraction is red? b. What fraction is Sreen?

c. What fraction is blue? d. What fraction is He"ow?

Answer the cluestions.

a. Sizwe has four Pieces of chocolate. He gives one Piece to his friend.
What fraction of the chocolates does he have left?

b. Yasmin has two oranges. She shares one with Ann.
What fraction does she have left?

c. Maria bUHS 5 chocolate bars. She keeps | for herself, gives 2 to Mohamed, and
2 to her brother. What, fraction does Maria keep for herself?

B2 S h e 9 10



Each row is divided into ecluc1| quts. The bottom row is divided into twelfths (é]
Label the other rows with the correct fraction.

Use your ruler or a strcight eclge from a Piece of paper to find which fractions

are eoluc1|, and to he|P You answer these questions.

From the fraction wall, find all the different ways to make:

a. one half (3)

b. one whole (”
c. three cluc:r‘ters [%)
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5@@ 0

aMere grouping qnd shquns

Look for links.

30+-3=__ |I5+3=__ 6O0+-3=__ |00+3=_
50 +3= = |24+4= 26 +-8= 260 -~ 4=
20 +-4=_ |2+4= 40+10=_ |(40+5=_
400+10=__ |400+56=_ |200+65=_ |I8=2=_
o +2=__ 12+-2=__ 12+4=__ 12+8=__

>  Share out what's left..

Jabu and Lebo want to share 13 chocolate Pieces. How many Pieces do theﬂ each
get?

-

Theﬂ can on|3 share 12 whole squor‘es, theﬂ get six each. The r‘emaining Piece thea

br‘eok N l‘\dlf‘ SO each hGS b PIeCGS



a. At a Pr y sugar strips are shared between 1O children.
Share out, exoct|3! Draw Pictures to he|P you.

Each one 9ets str‘ips.

b. Share 37 striPs between 4 children.

Each one gets strips.

c. Share 48 striPs between 5 children.

Each one get,s striPs.

d. Share 73 striPs between O children.

Each one 3ets striPs.
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fractions

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

The Tdngr‘om IS an OlCI Chlnese PUZZle que UP O'F 7 ﬂdt SI’\QPGS

] ca"ed tans, all of which are Put t.ogetl'\er' to form various shaPes.

oo oooooooooooo : ooooooo : ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo M
A\ Fractions in the tongr‘dm.

Look at the tangr‘om Puzz|e. What fraction of the whole

square is each of the two |ar*ge tr‘iang|es?

(Pink in this Picture.] —

If You fold one of the |c:r~ge tricn9|es into two eolua|
ieces, each Piece is the same size as the medium size
tricn9|e (Be"ow in the Picture). What fraction of the

whole square is the medium t,r*icn3|e?

If You fold the medium triqn3|e into two equa| Pieces
each Plece is the same size as the two small trlon3|es
[Sr‘een in the Plcture) What, fraction of the whole square

is eac|'\ smc” tr‘lan3|e7

You can Put, two small trion9|es together‘ to make the
small square. What fraction of the whole square is the
small square [Hue in the Plctur*e)r)

You can Put. two small tmcng|es together‘ to make the

Por‘a||e|ogr‘qm. What fraction of the whole square is the

par‘a||e|03r‘cm?

Usmg the tangr‘am

Cut out, the tongrom from Cut-out, 12 and label each Plece with its fraction of
the whole square.

Put, your name on the back of each Piece, S0 you can 9et your own Pieces back
at, the end of the game.
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P|03 with [.. (or 8] P|03er‘s usin9 your @
. . \ g,) Evert.jone must put one
ta ng ram Pleces‘ - 4 ' uarter of the tangram

set into the klttvd

P|c13er*s take turns being the dealer.

2. The dedler decides what, fraction of the whole
tqngr‘qm each P|c13er must Put into the kittﬂ.

3. Each P|<:13er‘ guesses whether the coin will come

up heads or tails, then the dealer ﬂiPs the coin.

[... The dealer then shares the kittﬂ among those 1 =vilas
who Suessed right. (He or she may have to trade ;: large triangle.
A s

one or more Pieces for other Pieces of eoluo|

va|ue.)
. Anl:j remainder that cannot be shared stqas in ‘
the kitt,ﬂ for the next round. .
b. All P|c13er*s check to see if the shor‘ing is done
cor‘r'ectlﬁ.
. Two elghths are equa| to
] Ifa |o|c13er* finds an error, the dedler pays a one fourth. I can put in the

square qnd the Pam||e|ogram

Peno|t3 01(\8L of the whole square to that P|c13er‘.

8 A P|ager‘ with no Pieces may take any remainder
from the kittg.

PlGH continues unt|| eoch PlGHeI" hCIS been dea|er‘

A Ao

11 12 18 1& 15 16 [7 18 19 20
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M@gsur‘ng caacitH |

How many cups do You think
will fill this container?
acup (250 m|)

N

Use a plastic
bottle container
and a cup.

You d.o not have to mention
htres or mi"i’itres.

Nly use the words eup
and \bot’c’el.

\____~ allitre container

Make a litre.
Find a way to make a litre using different amounts of |ic1uid.

Whrite a number sentence for each way.

q C
Number sentence: 500 ml + 500 ml =1 000 ml (| £) s "‘“]

250 ml W ‘vﬁ

Number sentence Number sentence

=1 000 ml (I{) = 1000 ml (I{)

Number sentence Number sentence

=1 000 ml (I{) =1 000 ml (I{)

When we write metric sHmbo|s, we leave a small space between the last digit and

the sgmboL For exqu|e we write 3 [ not 32; 299 g not Qqqg; 15 km not, 1Dkm.
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The capacity of the cu
3 is10 qu tl'\% volume OF
the cup that is filled is .

This spoon filled €
the cup to the
first interval.

: | What, is the vo|um of
S each cup that is filled?

2@ This measuring cup for medicine contains 10 ml,

which is about, two teasPoons.
We measure |or9er amounts in litres (E) -
There are one thousand millilitres in a litre. e O M

How much |icluid?

k) How many ml of |ic1uic| arein eqchjug?

m| m m

medicine cups to
show the amount,

in each one.
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‘ Meqsure and Pour

At the game. -
) At half time each P|c13er' drinks zl; of alitre ofJuice. - g < 4

a. How many P|qﬂer‘s can share?
| litre L litres 2 % litres
b. How muchJuice do theﬂ need for?

Term 4 — Week 8

8 P|qﬁer's q P|c13er‘s |2 P|03er‘s

A Litres and millilitres (m|).

| litre = 1 OO0 ml Ql-a litre = ml zl; of alitre = m
125 ml = of alitre 50 ml = of alitre

Make half a litre.
“’ Tick (\/ ] the 3 amounts that add up to half alitre.

14,0 ml 160 ml 28 ml 240 ml

() ! ' '

w | w | k) | @
. & Milk is Sood for Hou! (7‘{\ /{7‘{\ ((ﬁ.ﬁ\ /{%\

X IEED Share [ litres of milk between: ]

a. 8 children Each child gets litres %1 * %%‘ ﬂ {%1 * %%i ﬂ

b. 16 children Each child gets litres * ]_)E
c. 12 children Each child gets litres K

| 2 8 & B 6




For |JU9 Bongi uses one oluor‘ter‘ (I—A] of a cup ofJuice and 2 cups of water.
Work out how muchJuice and water Bongi uses for up to 5Jugs ofJuice.

T | 2 3 L 5
CuPs of One cluar*ter‘

Juice [Zl;)

CuPs of 2

water

/
N ( /s

.r ) Make a litre.

How many of each container do You need to make a litre?

a. X100 ml b. X 200 ml «. X 250 ml
d. X 500 ml e X 50 ml

Thqndi S Partﬂ is over. | here are drinks left over.

How much 3e||owJuice is left? ﬁﬁ@

How much Purp|ejuice is left? @ J\,, L!

Thandi mixes the two juices together. \ﬁﬁﬁ
P Yie

How many fu"Jugs can she fill?
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Cut-out 9
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